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List of Identities:

P <>(P VP) ----- idempotence of V

P <>(P AP) ----- idempotence of A

(P vQ) &(Q VP) ----- commutativity of ¥

(P AQ) «(Q AP) ----- commutativity of A

[(P VQ) VR] <[P V(Q VR)] ----- associativity of ¥

[(P AQ) AR] [P A(Q AR)] ----- associativity of A

—(P VQ) (=P A-Q) ----- DeMorgan's Law

—(P AQ) & (-~ P v-Q) ----- DeMorgan's Law

[P A(Q VR] &[(P AQ) V(P AR)] ----- distributivity of A

over V

10.[P V(Q AR] <[(P vQ) AP VR)] ----- distributivity of V
over A

11.(P VTrue) < True

12.(P AFalse) >False

13.(P VFalse) <»P

14.(P ATrue) <P

15.(P V—P) &True

16.(P A—P) <False

17.P €&~ P) --—--- double negation

18.(P =Q) ©(—~ P VQ) ----- implication

19.(P «3Q) ©{(P —-Q) A(Q —P)]----- equivalence

20.[(P AQ) —R] <[P —(Q —R)] ----- exportation

21.[(P Q) AP —--Q)] &P ----- absurdity

22.(P -Q) &(—Q ——P) ----- contrapositive

WO W~

ok Lo (68 Dol 7t (3198 Lat

List of Implications:

1. P=(P VvQ) ----- addition
2. (P AQ) =P ----- simplification

15m




WX N W

e o o

bl A ylad (1 S Y (PRI

[P A(P —Q] =Q ----- modus ponens

[(P -Q) A-Q] =P ----- modus tollens

[ =P AP VQ] =Q ----- disjunctive syllogism

[(P —=Q) A(Q =R)] =P —=R) ----- hypothetical syllogism
(P —Q) ={(Q —R) —(P -R)]

[(P —Q) AR —8)] ={(P AR) —(Q AS)]

[(P Q) A(Q &R)] =P &R)

o il ALY aay (A Leudy

. Construct the truth tables for the following tables for the

following statements, and use the results to find logical
implicationsand logical equivalences among them( say
which statements imply which others, and which are
equivalent to which others).

p—>9)Np—>"9)
pV(p—q)
pNp—q)
P> (p—>q)
pe(peq)
qMp—q)

Solution:

Here are the solutions fora, c & e...

(@)P—9)"(P-79)

Assuming you have gone through the notes material
explaining the basic concepts

Of Logic, we start building the truth tables without

much explanation of as to how the truth values came.




bt D i S5k S 9¥1 5> gl

oo -3
e BT R SRR N«

q) —(c) “p

T

F = F

T  F )
T ‘ F | )

P q lqeop | Spep
T

=T

F
T
F

KB : i

1.14) Show that the statements p V.q Vr V s and(
A7q ™ Tr) —» s are equivalent.

17




BT} (P

‘!’M‘mﬂa‘&“

Solution:

%quVer

T

EF

EF

T'T',T:T'F

. T T F T F

s ] 8




] A y1a0 M Sk o 15>t

!

i

H

I T 1 RS 1 Q)
e e T T e I T T T
S o R Tie- T Lo ] (U] NS R
I e e I e R IR T 1A T

*-rJ%’—aFn'»-arnr-a-n»—]*n»—];m»-i
I I IR e T LT
I e i T e T TR T T T

The truth values forpVqVrVs&(p "q"T)—s
are same in each case, then we can conclude thatpVqVrVs
and( 7p ~ 7q ~ Tr) = s are logically equivalent, written as

pVaVrVs<e(prTq )= s

Sets au,..?.nZ.l
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1. The set of students in this class
2. The set N of natural number(all non-negative integers) {0,
1,2,3,...} |
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3.

(9]

The set Z of all integers both positive and negative {.
-2,-1,0,1,2,...}

cey

. The set Q of all rational numbers(numbers that can be

expressed as p/q, where p and q are elements of Z

. The set R of real numbers.
. The set C of complex numbers
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A={13,5,7,9} leAleBleC
B={x]px is odd}

c={1,3,57,9,..}

cardinality of A=5 (lA4|=5)

Ais apropersubsetof 8. A< 5
C 1s a subset of B. Cc B
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Sets and Subsets .
subsets AC B> Vx[xreA=>x eB]
Az B -Vx[x e A= x € B]

< dx——-(x e A vx € B)]
<> dx[x €e Anx ¢ B]

setequality C=Do(Cc DA (D)

C#* D (Coc DAaDc C)
<> Cg DvDgC

Power set acu¥iac gant!
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If |4|=n, then |P(4)=2%.
:Jlie

if X = {a, b, c} then
PX) = {0, {a}, {b}. {c}, {a,b}, {a. ¢}, {b,c}, {a.b, c}}
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if A={1,2,3} and B = {a, b}, then A x B = {(1, a),(1,
b),(2, a),(2, b),(3, a),(3, b)}.

alial
Example

A = {a e i, 0, u} is a set and the list of all its
elements is given.

Example

B = {x:xis an integer, x > 0}
Consider theset C = {1, 3, 5, 7, 9}. We write
3 € C to mean that 3 belongs to the set C, and

-5 ¢ C to mean that -5 does not belong to C.

Example
Let A=1{seio0u, B=1ino0464 and C

=1{a,a0e1440 4

then A=B=C

22
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Example
Iet X = {y: y2=4,yisodd’}

then X is the empty set and we write

X = .

Example
Let.A z= {1, 3, 5} andB = {1323 374: 5}

then A CB and Bg A

Example
Let A = §1,3,5,7}and B = {2,4,6,7}

then A and B are not disjoint because 7 is in both sets:

7 € A and 7¢B
ALY | AaSLAY Ol gaand! @al b Laidy

Z=the set of integers= {0, 1,-1, 2,-1, 3,-3...}

N=the set of nonnegative integers or natural numbers
Z+=the set of positive integers

Q=the set of rational numbers= {a/b| a,b is integer, b not
Zero}

Q+=the set of positive rational numbers

Q*=the set of nonzero rational numbers

R=the set of real numbers

R+=the set of positive real numbers

R*=the set of nonzero real numbers

C=the set of complex numbers

o0 o

oSG rh O

23
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Ql: U=N. {x| Vy(y 2 x)} =?
Q2:U=Z. {x|Vy(y2x)} =?
Q3:U=2Z {x|3y(y e RAy2=x)} =?
Q4:U=Z.{x|3y(ye RAy3=x)} =2
Q5:U=R. {|x||x e Z}=?
Q6: U=R. {|x|} =2
AL:U=N. {X| Vy(y 2x)} = {0}
A2:U=Z7. {x|Vy(yzx)}={}
A3:U=Z. {x|3y(ye RAy2=x)}

={0,1,2,3,4,...} =N
A4:U=Z {x|Iy(yeRAY3I=Xx)} =2
A5:U=R. {|x||xeZ}=N

A6: U=R. {|x |} = non-negative reals.
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AB={x|xe4d v xeB}
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A={x|xed}

radial
Example

let A = {a &, ¢}, B = {1,2,3}and
'O {a, e, . 1,3, 5}.

then A UB={a & ¢, 1.2, 3}

I

{ 1, “2) 3,’ d’ C’ g.’ 5}

CwuA={ace I, 3 5 b}
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Example
let A={abcde},B = {c‘,zie,ﬁg} and C

={aeioul

then ANB ={cd e}
BN C ={e}

CAA ={ae)
Example
Let S={abcd} and T={cdef},
then $\ T={4b}
T\ S<{ef)

Example

Let the universal set U be the set containing letters
of the English alphabet and A= {4, 4, ¢, %, y, 2 }.

thCn :4 ={d) 5;f;g; ;); i;j: k;l)m; n, O;P: q:

754U v, W)
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Example

Use Venn diagrams to represent the following set
expressions.

(@ (ANBYu(BNC)

NP N
2 N

ANBUC)NAUBUC)
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DA=4 Law of Dowuble Cormplernestt

(2)AUE=4~B Dermorgenr s Laws
A~NB=A4AUB

3YAuUB=BwA Cormnnitative Laws

ANB=BMNA
ADAUBUCY=(AUB)YUC Associative Laws
ANBNCY=CABYC
G AVBNC)Y=UAUUBYNN(AUC) Distributive Laws
ANBuUlO))=(0AmnB)u(AnC)

(6) A A=A, ArA=.A4 Idemporert Lenvs

(70 A g =4, AL =4 Identity Lenvs

(S)AVA=U,A~A=¢ Inverse Laows

(D AU =U, Agg =& Domiinatiorr Lenvs

(10) A I ABJl=A Absorptior: Lenwvs
A AOUEB)=A

satial

Example
Let A, B and C be sets. Use laws of algebra of sets to

simplify the following set expressions.

(a) U~BYUBANC)
=(ANBYU(CB) Commurative law

=AUC)YB Distributive law
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(b) (UBYU(ABNCD)Yu(d~B)
=(@NBYU(ANB)U(ANBANC D) Commurative law

=(AduwAd)B) YUu(ANBC D)  Distuiburtive aw

=U ~"BYu(AB~C D) Inverse law
=Bu(4nB~C D) Identity law
=B Absorptien law
Example

In a class of 50 college students, 30 study Pascal, 25
study C and 10 study both computer languages. How

many students do not study computer language ?

Pascal

No. of students who do not study computer language
is

50 - 20—~ 10—~ 15 = 5 students
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Example

In a survey of 160 passengers, an aitline found that 48
preferred wine with their meals, 78 preferred mixed drinks,
and 66 preferred ice rea. In addition, 12 enjoyed wine and
mixed drinks, 18 enjoyed mixed drinks and ice tea, and 16
enjoyed ice tea and wine, and 4 passengers enjoyed them all.

a)  How many passengers want only iced tea with
their meals?

b)  How many passengers do not like any of
them?

a) No. of passengers = 36

b) No. of passengers
=160—-24-52-36-12-8-14-4
=10

Problem:
Without using the Venn Diagrams, show that the

symmetric difference operation  satisfies the Associative
Property.You may use basic properties of set operations
(union, intersections,complementing) such as commutativity,
associativity, distributivity and De Morgan's laws without
proof.
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Solution:

We need to prove for arbitrary sets 4, BandC
(ASB)BC ~ ABBSC)

AP B =[(ANBYU{AN )
Note that and
(ABB)=(AnB)L(ANEB)

{(ABNTCYulA@B)nC
Hence the left hand side =

({((AnNBYuArBNnC)u{(({ANBYUANBY n )

&

(ANBNCYU(ANBNC)UANBNC)U(ANBnT)

Similarly it can be shown that the right hand side is
equal to this last expression. Thus the Associativity holds.

:Relations olasati3.1

(e gant) ASLa da )3 (A3 dBMal) (Lo Lanic 4 gase AB (o (s
-onie gt (il (6501800 il Juols (o0

Jlie
:Ad S de goand | L LS

A={2,3,5,6)

34
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R ={(2, 2),(3, 3),(5, 5):.(6, 6),(2,6),(3, 6)}-

ot Saglall (e it Abia 2101 Sledialy H OLIST pgam M oy Sazg 2200
vailai @l (e dayyw b tad o LG g Lid (pog Lag DI SEY 9 HLEM Y
B9 Wi OLEMal

el Sas¥
R is reflexive if for everyae A, aR a.
JoLeats
R is symmetric if for every a and b in A, if aRb, then bRa.
(§-aidt

R is transitive if for every a, b and c in A, if aRb and
bRc, then aRc.

Jalsa of (g9l

R is an equivalence relation on A if R is reflexive,
symmetric and transitive
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1. In each case, a relation on the set {1, 2, 3} is given. Of the
three properties, reflexivity, symmetry, and transitivity,
determine which ones the relation has.

Give reasons for each of them.

a. R={(1,3),(3,1),(2,2)}.
b. R={(1, 1), (2,2), 3, 3), (1, 2)}.

Solution:

a. It is Symmetry.Because wherever there is something
like(a, b)we also have(b, a)Here it is(1, 3) we also
have(3, 1) and(2, 2). |

b. It is reflexive because for every ‘a’ we have(a, a ).Here it
is(1, 1),(2,2),(3, 3).

2. Three relations are given on the set of all non-empty
subsets of N. In each case, say whether the relation is
Reflexive or Symmetric or it is Transitive.

a. Ris defined by: A R B if and only if AC B.

b. R is defined by: A R B if and only if if Ar
B is not equal to NULL.

¢. Ris defined by: ARB ifand only if 1 € A B.

Solution:

a. Itis reflexive.It is NOT symmetric .It is transitive.
b. It is reflexive.lt is symmetric. It is transitive.

c. Itis NOT reflexive It is symmetric .It is transitive.
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A function A one-to-one functien An onto function A hijection
(Not onto) { Not one-to-one}

Sl il (g o s (e S 3BY (e Olaglat! (e el
ol pald ALasit]

Regular expressions aeaiitf putaitiS.1
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1390) le (S9ion W (G peealilt 9 §HLal) puadll @
£= ("}
ol Loo A puas puuad 98 (i sl 3ol @
A+B={s|s€Aors € B}
| 1l Leda ooy piiad 3V 92 [ praipes @
AB={ablacAandb € B}
1okt Ladi Jiag jual )5 W1 90 yoai 51,5 @
A" =Ui0 A’ where A'= A...A (i times)
A"={e} +A+AA+AAA+ ...

AT=A+AA+AAA+...=AA"

Aelanill puslatitl slid Lansiicd! jga,)l @a! Loy

Symbol | ~ Stands for...
any single character
x* X, Zero or more times
x+ X, one or more times
x? X once, or not at all(optional x)
x{n} x exactly n times o

x{n,m} [, at least n but not more than m times

Xy either x or y

Xy x followed by y

— 38
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X)) xas cai){ﬁring group(more latér)
~ [abc] | oneofaorb orc, same as albc
§ [*abc] | any character except a, ‘b'or‘c |
§[a—zA-Z] % ato z or A to Z(inclusive)

relaTt| yulaitt Lo 2a¥ | s (e LN Jauandly

RE Description
(0+1)111 The set of strings containing only
Os and 1s that end in three
consecutive 1s
0'1(0+1) The set of strings containing only
0Os and Is that have at least one 1
0+0'10 The set of strings containing only
0Os and 1s that have at most one 1
Dy String of any characters
{a,...,Z,A,...,.Z}({a,. The set of identifiers in Pascal
WAL,
0,.,9, })
XXX... (80 times) A line of 80 characters
1" A string of 1s, having at least one 1
(Z-{a,e,iou}) A string of letters not containing
any vowel

TAAlATAl yulallf e Jalalld Aeciniud! delgal! mal s Lesdy

ata =
o+d =
awd=da=od

EA=a-E=0
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(e+o)* = 0%
e+olo* = OU¥
eto*a =

(oBy+ot = (B>
oo* = oxoL
(axByro =(aB)»
ax(Bo)* =(a+B)»

90 Losmg alaiill ,olail (gokud SLAY wolyall siia Aluiniul (ySasg
AN JE 2. g

Prove that 0* + 0*1(g+00*1)* 000* = ¢ + (0 + 10)*0
LHS = 0* + 0*1(e+00*1)* 000*
= (e +00*)+ 0*1(00*1)* 000*
= (e +00*)+ 0*10(0*10)* 00*
=g+ (e +0*10(0*10)*) 00*
=g+ (0%10)* 0*0

= g+ (0+10)* 0
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3901 (o ds gacmn (4o 4T ARl of Aodaill juladdl W g adstils
olmtd Jlighg Lasl w48 palfg Bou ol ZrAMMAL uo!gal! ')t 4k gamn duigiil!

A grammar G =(V, T, P, S)
:Gh}q.'dl b muang

USLSH g pdTE O)F ( Sy (it lg Aoiilgid| pud Sl pudil| (40 Bpgiin Ac pome O
CAAL L duoland guad Judisdis
39t JSES il g T3 ¥ (S lg Audleill Ol puhid] (pe dpgiin Ac pore @
AL Ll A 1
el g3 I s leiw i Ades JSAT JSGS ATty ud gl dclsd Ao gane @
STEY
el peaillg) 2L Aslid) ey @
:Jle
Example:
Terminal: a
Non-terminal: S

Productions:S — aS

S—>¢
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B ot (e 51055 (51t 95 (pSan Stelatl old pluidilyg Galdd JLL (e
AW §

:JLie
{alb}.adg35me18
P. S—¢la|b
S— aSa
S—bSb
G =({S}, {a,b}, P, S)
:Jle

o gheatin ke Lgud Alulis (o i o @laiin a9l Ait ot g3 Sueld
a,ba,sw

S— aSbS | bSaS | €

i il | Ala W yas Ly Loty
Example 1:
Terminal: a
Nonterminal: S
Productions:S — aS

S—¢
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ST} (P

The derivation for a4 is:

S =>aS

=> aaS

=> aaaS

=> aaaaS

Example 2:
Terminal: a
Nonterminal: S
Productions:S — SS
S—>a

S—>¢

Derivation of a2 is as follows:

S =>88
=> SSS
=>SSa

=> §SSa
=> SaSa
=>gaSa

=> gaga = aa
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Example 3:

Terminals: a, b
Nonterminals: S
Productions:

S —aS

S —bS

S—>a

S —-b

More compact notation:
S—>aS|{bS|a|b
Derive abbab as follows:
S =>aS

=> abS

=> abb$

=> abbaS

=> abbab

CFL is(at+b)+

44
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Example 4:

Terminals: a, b
Nonterminals: S, X
Productions:

S —» XaaX

X —>aX|bX|e

CFL is(a + b)*aa(a + b)*

Derive abbaaba as follows:

S => XaaX

=> aXaaX

=> abXaaX

=> abbXaaX

=> abb_aaX = abbaaX
=> abbaabX

=> abbaabaX

=> abbaaba_ = abbaaba
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88 Lasmg (il JSg b el g gt £ LGN de gaone Sl (pSag Siia

ALY ALe YT 2 (e
Example 1: CFG:
Terminals: a, b
Nonterminals: S, A
Productions:S —» AAA | AA
A—> AAlaA|Abjal|b

String abaaba has derivation tree:

S
AN B
A BN
7 i N\
i ! \
A A A
7 [
s PN
a A 4 b a
| AN
! s AN
b a A
|
1
a

Example2:

Terminals: a, b
Nonterminals: S

Productions: S — aS|SA|a
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The word aa can be generated by two different trees:
S S

JANVA

aS Sa

||

aa

Example 3:

Terminals: a, b
Nonterminals: S, X
Productions: S — aS|aSb | X
X—>Xala

The word aa has two different derivations that correspond to
different syntax trees:

I.S=>aS=>aX —>aa
S

/\

aS
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dedde 1.2

Afinite state machine(FSM) or finite state agat atdran
LGOI Ol 931 & gl s 73 9-ad -2 AUtOmMaAton or state machine
2 ALl Jelgal! (e de gome e Islaiel Sty Aine WSiie (Jon! uauasnll
Wl (oo OV LGS de gasma g ATV Lgud a i3 St SV Lot A gaimn Jiio 7340t
G Al (e JLETOY! Alaal Ao 33680 Sl Yigl JLad¥| e gomeg §y51 (o
ATV 2 Aeinld ) S UL ublng (g

aeal ) (e it ALt ATV Llaladuagh Lo 3gad LI JSEN (g
AL Jolgall de gomey Lgia

close door . -open. door

transition condition

) ENT (P PV E P
ALY Aot g (g DY S As gome @

RWIESCAI FYVE VR




Al | A oudt AT Al 5o gl

Badoe (5351 Bl (1 Baions ATl (e ATV Jtier e (AN JLELYIAILs @

Al 3,2950 OB Lo f3lelel

(ST (g Gl 2o ATV ghan (b Shnghas (4l ATt piia
LOME ALY e A8 gase AanTlaagl B Al Ao AN 2 daa LI O puiit!

Lo 3ale g pialgl do ol (il (| Adlon (e ATV SLEGS Aclae dadys
W3 (e padd| @iy Aot | Sl By At Lond| Ao At o il s
(00331 (bl Jguandl Lo o (F] dondis Jgutan IO (o JLEZASS

State tmnsmon table

Current State -> | State A | State B | State C
Condmon
Condmon X |
ConditonY | .. StateC
ConditionZ | T

WY Calial ale (IS g Dlaudaidl (e pise 2 A it OV Y ATl
s ot | dngeiid |

Recognizer a;wetiay .1

B yaid g O Ul (s 4k gam0 etiad it Ladt 2. ATV 20 ATy
Ml (e fe Jon JSLT DL (0 (e daas (e LB yald) j5 1 (iaes of Lgale
NICE AedSI jucds e Joad dugiis WY OYLontf dalasve (s SJLH JLLY
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not_n not_i not_¢ not e

Acceptors OMsatl (re degesme a3 AN dgiiti AW 2

Ry (S (S PP NS (W PP T b (W F A (R W27}

(G358 o1 r3n ) LN @811 L 131 Lakd 3ol Augiie AT datasus
1 1

OO

0
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S AL AL O (pSad ity Obuausnil| Aegiill O Y She 22V [y
P USAT 2 (e 98 Losimg Subutar A8 (FI JEUS gt Alondt putd 2. (21

sensor_closed

sensor_opened

OS] (e G gonn i Bubin g V1 (2 e Al AV Hld ale (JSlg
@b e alaliel Al uad 2 (a5 Of (S gl (S5 1 Wl (I Al (e JaTiTg
Sl yodl iy dad 95 (de ool Lgdld JIETOYT e g At lond) At Lot g S UL

tia ]| 10D (e faletie! Al AW DL gSle g ‘:,JDM JSEd (g

Inputs
Stave
transition
conditions
Oxarprat
conditions

1Agiad] AT udladf hgadtt 2.2

dadi ol @S Busn g ¥ (ot Lo Amegiid) AW GLD Linb s L) Loim
ISy Lade B el (A MLl e sl uolt) 2. Y Walu (o Oleglasy
SLiled g Aot Aot Lo Iabaficly Argiid] ATV Al DY Lot As gose

o) s & A5 gl Bubais Al (31 BT O3 (pSean ATV LB Be g k| A Lond
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AT Biom 931 2985 (1 (po oW cidlald g1 e M a5t 131 Sibae )51 St i Aovidie

A AT 23900 o I SS9 Dol e L

Automaton

—_— >
— w gqlg2 . gN |—»

| -
—_— t—»

Sl A goe  ©
(0amg OOl s degame ©

AL O g ALY ATt Lgid Las OY Lond | A game  ©
JaoYia, e

gl O e Olegd STL

Baguadi Acgtiaryy 1
LBaguamtl ud dugiti a2

e gt ([ald (1Dt LB gus Laidg
Deterministic Finite Automata sagast! acgiti sy .1

Lo buimg Lil (ol LI KA D e 9 Losn AN 2000 ygua (ySeas
trks La (e
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Input Tape

a

b

W
\\xfkeading Heud

S

i

Qo

Finite Conuwol

390 (e ds gone (e Iy OV LI das s @

OVl de gadnesy Jadlion g St Guy @

Aalign (gue O ) 501 8)3e 500 da 5B aua 3llg AaliSIlg Be |y 21 july ©

N IPYERT

ol ST Be B Aslac (Hm mbasg (et ool dadid Bg a0ty ul pniy @

B9l 3¢ | a1

(T JSAI 2 (e 9 Loy (et olodly Jadd us g

Input Tape

a

b

Peren

Reading
Head

Qi

Finite Control

56
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Augiili M A Pk NP

LDl g O iy il gl Auilgd Al Baguiond | Aot | A Salidd
AL SV LS| gt 2
VI 350y Ly gl A1 g s
FA= <Q,1,8,q0,F>
ey gty

YL (0 Bagukms A gane @

O AL 3905 (o Augiis Ao gae ©

£.9728 3 s 19 At lond) ATl ALiall SSLeblall 25 tlg JLALYI 2T(s @
S| Aot 1 JLEa

ASY AL e

dcgasme L Araiilly Auilgil| OW Lol A gomme gl W guill OYLatl Ao game  ©
SAASH Y Lt

S A (e JLEGY Laf 55V L Ao (e it | dadaind | 2. o
598l eyl dude LGSa O (Ao gl Lgie piand

Joad gf gyt dliats 2. Jdobadd) jorradd Baguiond | dugiad | OV AT
MU e 2. 35001 (e e e (e i BLAGSS) Jle

raliol

A 190l Lo gcie piualf BLAGES! o Joad Sillg B3guond! Augidi AN ol .1
sdongdlg panall fpe 2T X1 OIS U (o A gand 2
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depgel| A s gl

(T AV datasns 2 (s 98 Lo g HOST L pud g

(0F1)* gty pauatdt ) S5 o it Aot Aot At datasna oyt .7
e (55700 O oy At Yo Oy Lede il 319 jlao W1 (10 glacin sutay
sie (pe B ludl ualy 25V Lo gl Olus gl e 2olid) yauo Ao g2 ¥

1 yLawa ¥

R IPCYS AATE YUPPY RN TPLE1T U [PX (U TP [ -S4 [ SUPNT- PO
AN ¢ e ¥ e d39Se (Al oL ) LIESIT 10 2 LEa Y 1aa

(S Jriue O

) & OSS (A @l (e Ao gane @

Seastldag,s @

ERCITRVINE

LJLEDYI AW Allallg Oledaldl (jedogone @
60 = —




Aagiid! Aot A A gl

1Clomdlasat| @at 3.2

(355 ilg Be g At jgua ) Ao gane (o drgill AIWY (LB (e W gt aattt ]
AL OY Lt (G| (o AT ATt (e JLEGYI S Lgle) )8

(0 Ad) B0 39001 Ae godma S 131 Disd

T = {a,b}

A45U OLALT CET 20 Aegiil O Lt ¥ LY (o Ao gane Wligh
A 31 Ak ot Jualead ! p3led (oo

Strings
a
ab u=ab
abba v = bbbaaa
baba ' w = abba
aaabbbaaba b

3o 1)ty peoantdt Lga) Sbclaal! (o As gasne Aja st Jusdbiadt e Gudad .2
AT AW 1 2 (e 98 Losn dajapd) dlialiatt Jolo it g deuSatl




Aagrialf Aot A Wi gl
w=aga,---a, v =886 ---8,
w = abba v = bbbaaa

Concatenation

wv = aa,--a,bb b,
wyv = abbabbbaaa

Reverse vR =58 --- bA
vR = aaabbb
w=aa,---a,

Length: |w|=~n

Examples:

labba| = 4
laal =2
lal=1

62
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For any letter: |a|=1
For any string wa: wa| = w|+1

Example:  |abba|=|abb|+1

~ =|ab|+1+1
=laj+1+1+1
=1+1+1+1
=4

wv| = lul+ W]
Example: v =aab, W|=3
v = abaab, |=5
wv|=|aababaab|= 8

wv|=ul+p|=3+5=8

Ol ¥ ey 2 Lgalibnit (- Sag dd )hd Aiwkis o 390y Qe Adeakeat) .3
O e 1 A lodl (393 (431 (o} Al e AW St

63
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4] =0

AW =wi=w

iabba = abba/. = abba

ALt L Augid ) AIN) S8 (p0 dTgudl! jgm0 0l As goandd Doiiles 131 .4
Lol 2 ais ool abuc Lt Lel aotid ) Al Lo et g Yol 2415 S oW1

Hota M At Lol

W‘/ZUV
prefix
suffix

8o Be | iy A Lgita DDA w0 W1 2 gasme Aluliudt oo 1319

s Lo Crraad! (o1 shuusd (pag 2y

Prefixes Suffixes
A abbab
cr  bbab
ab bHabH
abb ab
abba 5H
abbab | A
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MR

FVR VA [PRESIL S (PS (PRUY IEIWR [} PYVEIPY I3 I PPSIT o« JTE- S

101931 (ro 98 Lo g 5 HSN Ol e ke (S 9leud 9aY A 9B o s a1t

w’' =—ww.--w
A ——’
rn

(abba ¥’ = abbaabba

for any

w WO

I
-]

«

(abba )l = 4

Jeadheu 1A Bl (3 5L j9ayH Ao parme ps doenid | putiniac .6

Al Ll S 12 Las 2oja, M Al bl (pe LgingSG (p-Sian it Ayiua )

o At et Adls M i U150 3 )bl Lot Al p 3 Lat! A ja !
(a8 yLat) dubeadt o Litwh Ak W Alubiat) (e Lgule Jgasnd! et

Example: E _ {a’ b}
**={4,a,b,aa,ab,ba, bb,aaa,aab,...
Tr=3*_2

t* = {a,b,aa,ab,ba, bb,aaa,acb,..}
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dogeme (b (alid Audio dundiulis (po Dagiill Aot AT (e A guall 2l .7
wﬂ’h}wwwﬂéﬂ”\ﬂpﬂ\ww|

Examples:

T =1a,b}

S*={4,a,b,aa,ab,ba,bb,aaa,aab,...

Language L{M}=

{4}, {a,aa,aab}
{4, abba,baba,aa,ab, acaaaa)

Lonic dolsh Gl judg 29,380 90,01 e gamna o dugiidl il daltt .8
(0 4l Wi I J gl IMS (0 Trgll ALt 431 2. 51,5 Sl (980
:L@!S.\,ﬁb@c};&”

Aninfinite tanguage

L=4%a"b":n =0}

/1; M

aé L abb e L
aabb

aaaaabbbbb _
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Lgod! Gluloal! (s 4c gamme Autgilid| WYV (pe At gudll SLAN e 0ii3 .9
e Dlaleatt pid lid Loka Labdl JmaSllg (@ sty alol iy slo ¥
1ol gand |

The usual set operations

{a,ab, aaaa} ) {bb,ab} = {a,ab, bb, aaaa}
Ya,ab,aaaa} ) {bb,ab} = {ab}
Sa,ab, aaaa} - {bb,ab} = {a, aaaa)

Complement:

[=s*_L

fa ba) = {4 b,aa,ab, bb,aaa,...)

IS 1 a0 Ao Aal) USAL Jg-0,ll Ao gane (ro L5 AugSall 2altt. 10

:u.assa.ﬁ

Definition: LA’ _ %,A? ‘W L;
Examples:

lab, aab, baba)® = {ba, baa, abab)

Lz{a”b”:n‘;:O}

(R :{b”a" :n;':O}
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Definition:

Example:

Definition:

Example:

Special case:

L =ixy:xelyy=lb;

‘a,ab, ba}ib,aa}

= {ab, aaa, abb, abaa,bab, baaa}
13y (pa yikaal Lle |3 51 ySaT Sk (971 AL e (pSadg laa

[ =LLL
S —
1

fa,b)° - {a,b}{a,b}{a, b} -
{aaa,aab,aba, abb,baa,bab, bba bbb}

0 p

fa,bba, aaa}o ={Ai}
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Example:

L= {a”b” n = Of
| L2 ={a"b"a"b" :n,m > o}

aabbaaabbb < [?
Lgiodail (Slas (il | OL AU Ao game (b dsonid) Al gl dcdaantl. 12
133uoms 4 (pe Ledt Jauogdigl

Star-Closure (Kleene *)

befinition:

L*=0yuduye..

Example:

a, bb,
aa,abb, bba,bbbb,
| aaa, aabb, abba, abbbb, ...

fa,bb}* =

SN
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ds oo Lgie Lt o 4l A dST A dasil! o A ot | ddaall Loel

14l yLad! g0 ,d4
Positive Closure
Definition: L+ — Ll U Lz U -
=L* {4}
J'a, bb, l
{a,bbl" = < aa,abb, bba, bbbb,

'\ aaa, aabb, abba, abbbb, .. l

;

Ome g9-01 108 2 @ o Ciln jimadd Al AW 1 gl AW Caiuas. 13
Aol (e gl g yond ) Aaud oatialy Ciban pand 7 L1 degiid | A3t | DY)
Aealat) AMonlt DIy Jlondf ST 0509 £ 9,881 5| dadig AT AT Lo
2. Sl 9 Lo Adlonl Wlandlg J5nutdt Hle iains (1f il Joolad (il
O kel gyl B guug Lis W AW (e £90d) 1D (40 paliead B guag 1
oty it (e zymtt Lad alian itlg y99-0 &) Jie Y YT 0lia
e g Al AT (e 7yt L dialian (il (hee Allg ALt
Oy I IS il g bl S (e i 1iagh ALiall Silal g5
(ol pnoll At Acgiill AT Bgualt dalasat)
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Input
String
|
Output
Automaton

Bt g1 68 2 630uay (pomd (1 9-gB Aurgiill SN (pe ILAIY £431 Lal

390531 (1m0 it pann sl ol Joaal s AL A1 (g Brakl ATV gag ¥
(0 Do gama k) ol foalsl hullgd Wla (I Lgie 3B 3553 Cooms DIVY Aal JSAS
18 s L S Bdlgd yud Wl (FF JLESHY (F1 LaSe 1,5 29T (Sillg 30

v & (O t,a.”
Input
String
l Output
"Accept”
Finite . or
Automaton “Reject”

OV ot datasne Aol gy Aegiid) AV Judiasd jga )t (po A gasme puimiiud. 14

VT S 2 Biie 0,1 lk2rg
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abba -Finite Accepter a b

initial \ final
state C oy state
transition N "
state accept

Sl 390,01 As gamma g Adiadt Wit (e Configuration ¥ aiw yas. 15
O ) Be 08 has (G50 (1 Add (e JBS OV AT (ySiang a5
gl (e pieaidt (Siadg 10 dan plid) (ole Wniadl J9ma I dec goe
ol Lady (s yt et e alidniwbigh datasnll pluini by
B 2 65V Al (e JLEGN Braiss (1S (llg JISAY (0 Ao gone

gt (e degone jedrgl 4allt J o8
Initial Configuration

Input String
al|b| b]| a]
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Reading the Input




Al 3ol

Output: “accept”
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Rejection
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L = {a,b}

F=1{ga}
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Transition Function &

(SZQX,E-——}Q

5(gp.a)=q

Transition Function &

o

9a

HIBIB (S
FRIPRIPI®a
R RIPSES

m78 -
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Extended Transition Function s*

5*:Qx E*—)Q
5™ (go,ab) = ¢

3* (g, abba)= g,

S * (g, abbaa)= ¢

Recursive Definition
s*(g A)=q
s*(gwa)=5(s*(g,w),a)

S* (g, ab) =
5(8* (g, a),b)=
S(5(5 * (gg. A),a),b)=
5(5(gp,a).0)=
S(ql,b') =
%

79— T—
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8(q,a) =p

B Byl gl jaybiBelyd io P AT 11 G Al (e JUELI (gt 59
1o bofo PO 1 CuiSs WY A% Caws gl o1 rilawt Llliayg

uly St iy (SN a9 Aot AW londt (1| s ¥ pladt s Susm
O e e W 8 lalf Ll ey 8T @F (il 2Bl 908t Ao gonag 3ol pal!
Aiil] 390 1 As gane g 5o Il Be)B cay Wiandl

LI Aball 2181Se 0 Bisgll Zaalu) 5ygualls
{qil aW] }_ {S(QI: a)z W]? where S(qh a) = q}

390,71 A game degiill Aadt AN i3

w=ala2... an
g SN (o a5 Lia (slim 131
RULINCHRE U PUPRY

W e Wy giid @
J (§bue 1905l RASI Asgeanl] (30 130l (0 A0 gasa Sulids: @

80




Aagidl Wt W p A AE]

ok Lo 251N A Lont) (I oSl JLATSN AN Aacugd (Slang 100
"§-hat"(q,w),

1319 33uomt] 390,11 Ao gane Bplphy Backnt ! Alondt (o AW (J25 uad allg
fbead Auldniiond OF (pSan Ling Liyed @fo JLADYWI OLB AL 50,31 Ae gomme COlEn
1M e 3959 F | A bt (90 JLEUH Ades (e poald) (yoluwal of

If |w| = 0, then "-hat"(q,A) =q
o Losim JLAY ) ATNS COST tuonfg 1wy SSAT g0yl A gase il 131 Laf
If |w| = 1, then "8-hat"(q, a) = 8(q, a).

A1 e sealdl HSatD jeay () Eeal j90 )] dc game SIS 131 Loal
:S?".'.‘ Las JLaZGY

Let |wjbe n> 1.

Then w = ua and "9-hat"(q, ua) = 6("0-hat"(q, u), a),
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String w if “0-hat” (qp, w) is in F.
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For a DFA M=(Q,Z,5,¢,F)
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» LetM = {Q, T, 8,qq,F} be a DFA.

Q = {q¢, 91, 92}
> = {a, b}
F = {qaz}
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LetM ={Q, %, 8,q,,F}be a DFA.
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O : transition function
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Two choices M No transition

93) No transition
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All input is consumed
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No transition:
the automaton hangs
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a

Input cannot be consumed
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“reject”
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aa  is accepted by the NFA:
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No transition:
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No transition:

the automaton hangs
aaa is rejected by the NFA:

“reject”

All possible computations lead to rejection
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+ DFA + NFA
M=(K.5.6.5.F),

K:{g,.q, 4, ) finiteset of states,
L. alphabet,

3 start state,

F:setof final states,

&: K X T K, transition function

M=(X,2.5,5.F),

K:{gy.91v-Guor ) finiteset of states,

L alphabet,

$: start state,

F:setof final states,

A: K X (ZU{e}) - K transition relation
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e Start state derived from s, of the NFA
o Take its e-closure Sy = g-closure(sg)

e Take the image of Sy, Move (Sy, o) for each o € Z, and

take its g-closure

e [Iterate until no more states are added

The algorithm:

Sy e-closure(qy,)
while ( § is still changing )
foreachs;c §
foreacha el
8- e-closure(Move(s; ))
if(8,285)then
add s;lo S as s;
7Z§,, O.’] 8§

The algorithm halts:

1. Scontains no duplicates
(testbefore adding)

2. 2% s finite

3. while loop adds to S, but does
not remove from S (monotone)

=>the loop halts

Scontains all the reachable

NFA states

Ittries each characlerineachs;.

it builds every possible NFA
configuration.

=8and Tform the DFA
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Applying the subset construction:

t-closure(move(s,))
NFA states a b c
$g L o B P S none none
Q4: Q s Qg
2| T 92 93 none 76899 | @7 Qa qp
Q4 Qmm st 943 gﬁ 9,2; 94; Qg
S22 Qs %Q none Sz ) 2
L E PR NN
$:1 91 Qs @}\N”e 5z 52
Q234 9¢ \
ﬁ Finalstates
The DFA fora (b|c)
5 a b ¢
30 3; - -
&y y Sz S5
8 . $7 Sy
33 - 321 33
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1. Compute g* for the current state, resulting in a set of states

S.

2. 9(S,a) is computed for all a in 2 by

a. Let S={pl, p2, ... pk}

b. Compute I=1>k (pi,a) and call this set {rl, r2, r3...
rm}.This set is achieved by following input a, not
by following any ¢ transitions

c. Add the € transitions in by computing (S,a)= I=1= m
e*(rl)

3. Make a state an accepting state if it mcludes any final states
in the -NFA.
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M= {Q,%.5, q0, F}
Q= {q0, g, g2}
Y= {a, b, c} and € moves
q0=q0
F={q2}
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Q' ={{q0, q1, 92}, {q1, q2}, {g2}} or renamed {qx, qy, gz}
2={a,b,c}

F'={{q0, q1, 92}, {q1, g2}, {q2}} or renamed {qx, qy, qz}

q0 = {q0, q1, g2} or renamed gx

PV L ol alddvinuls JELYT S (o

& albic
qroriglql.q2} |
qy or{ql.q2}
qz or{g2}




Baguont) pd agpiat! Attt AT

5?

b

gxor{gl.qlq2} |

gx} or{{q0.ql.¢ }}

gy} orf{ql.a?}} | {az} or

gz or{q2}

a
{
gyor{qlg?} [
9

9

{ {
{ay} or{iala2}} | gz} or{{ql}}
T

8 |a b ¢

gx | {gx} | {qv} | {9z}
qv|d {ay} | {az}
qz | ¢ o {az}

%

%
i‘s. -9 QF
£

10 gl pluSaTiit (gubag dugiill yud A gl AW e Juasmd gy




Saguand! i dugiid! A londt AT (v P NEN

R

tgiil) Wlad | WYY Olada3S.3
1393 Olaedalill ol @l (pe ) Cldiadatd| (pe i 2. Augiilt S W adsid

Lt (30 73Lad (40 yalin) B gounrg it | A i | Al Syt oo . ]
Aty yoe A1 Lia HEaltly e g A0 £ L Of LIS 1 2olgd 2 SYY)
s

393! (0 A gae (e 2ATHH DLkl Aadaiill pulailt 31y Jliiad .2

Olea it @ienad .3

ol Jin Jo bW G dgdae (e Sutadallg duolind| Olooe pudt ebis 4

Ligealty youall dAmdlae

etdiaid 20 p bt dua o aasbiul) Bu 919 o048 Bui 931 2. Lindy pai)

Ll AW Sl Cuons Wian 4l ol pliadiie pocald GUSEL) 3o 0l (e 40 gama

vl 3390 dadd Uty by Laidg Letle B yalllg dogentioia Jod (e
Al pulaidf jurdd Aduss o Wial

A s Lade B8, W1 yee L g) IAMM@DW‘MY!:JW

8(qe-a) = qy
So(q0,P) = q>
6(Q13a) = ¢
6(q19b) =

6(‘129&) = qqs3
8(qa2,b) =

o(qs.a) = q>
6(vq3,b) = 43

S 124




Bagubond | pd dugeiid | A Londf AT P [l P AN

o a b

—»q0 | 91 q>

91 | Yo qs
3 b 9z Yo

@(hch

v \>2:~%

Accepted language: (alb)*abb

Y
_a,_w--'-‘“‘w ((/1\.))(«__)
start 0 P i
= ks o’ \ B

Accepted language: a+ | b+

O 0 (29 S 9l Sdoil A lee 2 Liasl gl OW Wl ansu S
A0Sl Ay yuiall zeel ot des )5 Ale Jaad (Sd1g Dhea yll oLl 'E\yh'um dab.l!
2 Al O Hoa Lod A | WYY 595 Aoy (il (il (i Ao Aaly




Baguoed| b dungalid| A Lond ! AT AL AT

e A Glags e s patsh Laudy Lgh gy Aalatidl ol alilf Lo o pailf
gl | YW alasdiwbs Lol (ot causmg

Gl 3] dlam ML 018 JguBy B yaillg puls by (o AAT 2 Alan MUY s ©
SATY 1 AA) e GallalS F 131 Lgaad) ol Baciomt! ddualls

123.45 Joe 20 puuSI) @uad) e Byaidf @

digit digit

v digh
WAt N
T\ ! other :@

this transition is taken™ Other
onlyif *.' isnot seen

O

Asmuall MV Sle L8,aall @




A 'l'fe ‘vfomafa Using Sfack
MJF Csh Dm Auromafa)




PRIty PRES IR PR PR P st 11 5 gl

130 jomdt dautiuiat] Alont | A3Y plad) pggatil.4

AL JSL 2. (s 9 Losog dajandl 2. Bud ) DD Lgaad | AW ()9S5
@S Bubam 99 Lgie 38 21 )L 9,01 de goms (o (Soiow (Mg O ALl dass ) (e
hgelo g jgu dt dado Cudeal s dajomg A1 DY Loy dad%on

Input String
Stack
States
Q 5 —>
O—() 0O

duo o1 2. Lol yaiiw! ‘.:,'.U‘ degnd | QYW o > SV ols aid
EL Py DY eRIP IR L (PRVSNE L DUV LT IVER IR =P A (L PRI
o lgels Siwlg 30 g ,aLl jguet daasd Addniid

(Cadodt)adull Udee Loude (aily aBlgtl (po 4 game (po dajantl Lallis
gl iy dajadt 2

2 dads joay pinl OF S Vol ol Yol P id) Rsoling Aajontt HLAG

W ol 4 jomdt [y 4Bl g dola Yl @ dajd!

S 129- _




A oudt daudiiuat! Augiad Aot A Tt 5ol

£ Lt (1 3oL Lgud e 3oay piing @i Audhotial 2l omg ajondl oot

B Argil) TN A 13Lb YL JSEINE (yre 58 Lasng Beg,al) 35ma 1
O Bl g d8Lidl Oldae 0aild 8s1 a0 Dldes (e guidg j3-a )01 (e 2s gomo
o Jebimw 1 (LB 5yl Slelaall 000 Sl choas et pmd | Caomiiirly e pon|

Lgde B ,ailly jgedt Angeama Jo9uB 9 Augiin Wl (1 Jguopl!

Stack Stack

stack

hea_’$" ‘
d N

bottom special symbol

O8]

<« top

Appears at time O

A ig B ydo (e duejadt ule LBl lg ABLLY | ddlae LA L i Lot
doudy pall 350 ABLOY | ddes (ddl e g B ol 1D () s jubihe puaTiung
B A HLARS paiall pa Sy Blod| iieg Aejod) 2 je bl audgs @3 iy

B e g 7 ylasg dajondt (e

MMD?@L&’ edical | dadndtg ATt Juceadd 3,300 autiniind
dxlec pilgd daddl Sle CGSE O e (gt G ATl (e JLa Y dutee Jliend
JE L LI - !%Emy}b Loé_gd\i;ty‘




Aol Aol ! dageiit) Ao A Al 1 S gl

Input Pop Push
symbol symbol symbol

N7
@a,, b—c¢ =@

a5 a3 1,8 0 el Attt Wl Ala e JLEDW Ailee O g1

13 OY Lot igh)atlontlg dajomtl 2 dlado 358 juaydlg dajond! (ps dclo Swls !

oV eyl Lty JE%0 Bet yat oas) Lgadh JLATSYY 51,81 (Baguiome il AW Cilen
(M5t das ps (Ao i lg aBigl g (el

Ml 8 (e JLEGY 1 Acloe dedil A eudngd I L SIS 1

e Loty Aajmdl (1 ABLOYY iilas Silily (6,5

1

a. b— ¢

inuflA J,

a a
stack
b _l+— top c
h h
e e
$ $

13] ———




A ekt Denliaad! dugiad! Adndt AT a1 gl

2
@ a, A —> c_‘,f]:
input l ‘ l
- | al J |- [a] ]
stack C  je—o
b le— ¢ b
5 °pP /2
e &
$ $
3

input l .l

a a
stack
b *— top
h h
e €
$ $




ha ! Deubuat! ugaiid! Ak} AT Tt 1 Gl

4

a., A—> A
(@) {22

input l l
. C'l v P C}
stack

b “— top b
h h
e e
$ $

e Lgiily JLATY Ao oL@l (3 piiho liigh Al ylb Ao jomd | i 131

A8 (g3 ATV (LB Al Lt Jguagl! @ (il Aot Cutlm 138 Bo gL a1
B (0 Ao 98 50 Bs 9 AU 390 )31 A gama (1950w W9 LgiliBg y9ua 1 (e S,
A2)ld dajo (e JgamIls 150,31 lgd (S S0 gll (o (AL JSAI g AW o0

a,$—> A

input i l
stack empty
top ———

The automaton HALTS
No possible transition after ¢,

— 133



pPRENTy PRECIR LY PP i1 PRI Aty Gl

@ a,$—->b=@ l

input l
vee a - . e a .cee
stack
$ [—top b [—

O (et (i1 A At Lond | A3 At o) doatiniivad | doegiidd | AT A3

O (pScas 4ajomll dantinivull Aegiill 43N LB Acle g B3gidone il gl Bagkome (3953

sl uedd Be iy DL 2 g pall ddlos ot g B3guions il gl Bagubonse (1955

o500 (1939 Lo Shat g 1,400 JLETIN) Idadly JLADY dlas plusnit (Sas
OB (i (A SIS g (529l pud G| ATV 2. Lok Lol B2yl puly

a:ji:jj;/”qib
<::> . Gi} A, b—éw:4§§>

a, b— ¢ @ A—transition




Haond Do dungiiit! At AT Al 1 Gkl

ATV od Hudid Acsuo (udg Jlie UL (W1

LM)=1{a"b" :nz0}

a.A—a b,a— 4

WA AD A ba— A A 508

(63 Al (e JLEOW dbee O gluie gy ALK SS9

1. Push the d's 2. Match the b's on input

on the stack with d's on stack
\ l 3. Match
a,A—>a ha— 4  found




eyt Dol gt Wi AT MR X

po-gin phiast 2. Shal hade JSlug IV ola Lyali Oiglad o1y Loxdy
Ty & (e godt i

N |
Execution Example: Time O
Input
alalalb|b|b
1 ol
Stack
current a,.L—a b,a— /
state
Z,A—-)) ba—->/v /L$—>$
"22)
2
Time 1
Input
altalalb| b| b
$




yPREA T PREC IRy PP U P BT Al gl

3
Time 2
Input
alajla|b|b|b g e—
T 5
Stack
\\{I'} A— 21/ b,a— A
b"@“ﬁﬂ
4
Time 3
Input e
alajal|b|b|b a
I $
Stack
<;7'«):"—}C%> b,(l—) A

b, *Q2,$—>$
e 2gias=s g

A A=A
~{(@)*

- 137 o ——




A oel) DLt dungelid! A AT

P NIRRT ]

Time 4
Input

alajal b| b|H

_ﬂiijFi,Zn—>ZL\gy
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N

Time 6

Input

Input




o) diiual! dugalidt Aot Al Al ol gl

9
Time 8
Input
ayajla|b|b|b
I $
Stack
a. . —»a b,a— A
Z,%——)?&Qb.a—-)ﬁ@
. a
39l pad)ddes

SAIVN B (o Al gudie AU ZALN Jo

Rejection Example: Time O

Input
[ « <t b_}
;
Stack
current a. A —>a b,.a—> A
state gﬁ Q
A,A—)/,_@/{/b,a—»/b_‘@;/ﬂ,ﬁ;——)t’s@




p PRy PRESIR LY W (P BRI U Al gl

:39kas Sglas AV olis acnid

Time 1
Input

; |

Stack

current a., A —> b, ca—> A
state

TR A, A —> A
_+<29/

= b, a—> /ng\’@\;i/»,$—>$@

2
Time 2
Input
ajal|b “
T 3
Stack

current f\c;‘ A —)2?) ba— A
state ) i




A ekt Aot Al Attt AT Al gl

3
Time 3
Input a
alalb “
T $
Stack
current (’a: ;{M_M_;E/; b,a— A
state Q
'\@f/ $—$ y@
4
Time 4
Input
alalbhb a
T 3
Stack




y PRENTY PRES IR Wt LT BR T T | y PRI} XY

5
Time 4
Input
alalb a
i s [
Stack
reject
current a, A—a b.a—> /2
state Q
NA, A—> A Y EXb a—> A A,8—3 =\
~@) A2 (@)
Jle

:@m'MYf as g

£ R . - e
LM )= {VV veia, b} }

PDA AS
a.A—>a a,a—> A
b.A—>b h.b— A

_2/02 AL A=A Q\y A.$— 3
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T jorkd hrdiiaad| dungeiid Aol AT Al 1 gl

Y Wl (e LAY dlas OV gliie gy TN JSLETT

Basic Idea: LM ={w" :ve {a b}"}
» \ R inpu
1. Push v > Guess 3. M-afch v on input
on stack . with v on stack
middie
l of input

a, A—a a, a— A 4. Match
b, A—b / b.b— A found
_g]\;ﬂv,/;—éﬂ g}»,$—>$ >@

dglas detas AWl siia Ll sl

1
Time O
Input
al|b|b|a
! $ -
Stack
a, A—>a a,a—> A
b,b—> A

Jo A A Q A $—>$ @

"V
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2
Time 1
Input
a\| b | b | a o e
! $
— Stack
(a. A—>a a,a—> A
b.Ai—>b b.b—> A

;v:, ‘2. —> /?u

c
Y
/£

N s
)220 @)

'3
Time 2
Input
b
a|p | b|a
a
! 3
. Stack
a, A —>a a,a—> A
(b, A—>bD b,b—> A
A A—> A R A.53—> 3 _ﬂ;?
gy gL

145




 PRENTy PRES IR PP p (TR R T PRI I XY

.4
Time 3
Input
b |
alb|b|a
T Guess the middle &
of string $
5 Stack
a, ~A—>da a,a—>A
b, A—b b,b— A
90 4329 D)
5
Time 4
Input
a b|b|a q k—
I 5
i Stack
d, A —>a a,a—> A
) —

\ A A A
__d .‘




PRy PRESIR Wt PR P daul 1 gl

e R SR R e T G

.6
Time 5
Input
al bt b | a
I $ F—
S Stack
a.A—a Ca,a—> 2D
b, A—>b b.b— 4
90
7
Time 6
Input
a| b\ b|a
T $ [
Stack
a. A —a a.a—> A
b,A—b b,b— A
A A—> A
40 ’

s — 147 wm




W ould At Dugiid! Al AL a1 5

:Jlie

deal pad) diles
Rejection Example: Time O
Input

a| b | b | b

f

Stack

b, A — b b, b-— A

g? A,$—>8 @

"L/

Time 1

e Stack
</ a, A —> a> a,a—> A
b, A—b b.b— A

A A= A @Z/:.s—ass (G




ot Dot ! Auugiid! A Lndt A7 a5l

2
Time 2
Input
b
alhb|b|b e
! $
S+ack
a. /,f —.>Ma a.a— A
b A —> b ) b, b— A
O/:,/%—%)l < A$—>8 7
3
Time 3
Input
b b | b b I
a
T Guess the middle @
of string $
i Stack
a, A —>a a,a—> A
b, A—b b., b— A
dow... Ao D @ L$=>8 (@)




p PRONTy PRESIR LY W Th TP T PP X

4
Time 4
Input
a
b|b|b o e
I 3
a, A—a
b, A—b
Ag A—> A i
q0)
5
Time B
Input There is no possible transition.
alp | b | b Input is not R P
T consumed ' 3
; Stack
a, A —>a a,a—> A
£ A A—> A A. 33— 3 J@@




pPRENTy PRESIR Uy WP U (PR U] Al gl

JES I (T
Input Time O
aib|b|b
T §
. Stack
a, A—a a,a—> /4
h,A—>b b,b— A

AA— A 4,89
| ~q)—~ {a)

1
Time 1
Input
ai b | b b a —
! 3
Stack
a,a— A
b,b— A
A A— A %}x‘i.$—>$ >@>
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2

Time 2

3
Time 3
Input b _—
b
al\b|b|b .
I 5
Stack
a, A—a a,a—> A
(b, A b0 bob— 2
A A= A <;:;2 A, $—
, A (@) $—% a@éb




P YTty PRESIRT Wi P VPN A | a1 gl

4
Input b
b
al b | b b o
! $
Stack
a, f:?f? a,a—> A
73 /» — b b,b— A
A A—> A < A.$5— 8
“ '@/ 525 @)
.5

Time b

No final state
"a bbb | b is reached
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There is no computation
that accepts string abbb

abbb & L(M)
a, A—>a a,a—>A
b,A—b b,b—> A
gﬂ,/t—)/a g/vﬁ—)ﬁ @

Jle
LM Yy={we{a b} :

in every prefix v, »_(v) = n,(v)}

a, A—>a
b.a—>A

PDA A/

@)



4 oedd Dockiniald) Augiidt Attt AT At 1 5l

i

Execution Example: Time 0

Input
alal|b
T a.A—>a $
b.a—> A Stack
h,$ —> A
1
Time 1
Input
ala b [ R S—
! $
Stack




y PRIy PRES IR Wty BT Aty 5 gl

2
Time 2
Input
a
a a b a
[ $
Stack
3
Time 3
Input
a | a b A le—
[ $
Stack

accept




da jould dadiedal!

dagiidia

Ll A

a1 5l

Rejection example: Time O

Input

d

b

Input

Time 1

a

b

e

<f2,&—+2{>

b,a— 2

157

1pad i diles

Stack

Stack
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2
Time 2
Input
alb|b|b
| $ J—
Stack
3
Time 3
Input
a|  b|b |b
T = _
Stack




e joud Badiiuad! gt Al londt A7 a1 5!

4
Time 4
Input
a|b|b |b
T a. A —>a S
b.a—> A Stack
b, > A

—

Halt and Reject

Al dules Leor Lad Ao Wi (po JLEOY dules Of (oI Liska Ly

(e JLEI e ey (i el HLOY ) diles Uil (et 100 Dajand! (31 )
ot P SIS (g Lol Zajontl 2 900t ol (3350 gy (65 Y AL
o 39l (e At gone ABLud) g Jumais (G Y Atlon (pe JLATY ) dilas

eyt

“.
.

Input Pop 7 Push

%

{
symbol symbol  \ string ,/‘}

. e
~N L7
@a,_ b —> W =@

o




yPRPATY PREC IR Wit (TP T Al gl

rdutoad! 00D s gy ‘;JL'.U‘ Judiy

@1, b— cd];@

input l l
v Al e -t d
stack - 2 pushed
7 top 7 string
h h
e €
$ $

Jlie

a,$—>08 b5$->19%
a,0->00 bh1->11
al->4i b0 A

g '/’;ﬁ$—>$




PR ATy PRECIR Ly Wi (P PN Al 1 5ol

29y (e 4 gone LL&QZJY!AJA&@J

Time O
Input

alb | b| b|a|a

a.$5—>08 5HE—>18
a,0—>00 bH1—>11
a,l— A bbO— A

Stack

current
state

A.3—>3 ‘(@

N |
Time 1
Input
a|b | bbb |al|a
I 0 r—
(@.$—> 0% b $—>18% :
N hdiidhe 2B e Stack

a. 000 5111
a,l— 4 b, 00— A

A.$3—3

©
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2
Time 2
Input
alb | bl bl a|a
| ; s 1
a,$—->08 bHI—1S Stack
a,0—>00 b 111
al—>i (b0— i)
A$—>8% T
3
Time 3
Input
a|b | b|bjaj|a
I —{
, . $
a$—> 0% (b 3—>1%) Stack

a,0—>00 b I—>11
a.l— A b.0— A

A.$—>8 :



e o Dediicad Aungelit Al Loud AT Al 5 gl
4
Time 4
Input
a|\b |b|b|ala 1 +—
! 1
1 $
a,$ — 08 }3— $jl$ Stack
a, 0 — 00 fb l-—>11
al— A b =y
4.8 8 L
5
Time B
Input
a\b|b|bla|a )
] 1l r—
3
a.$—>0% 5 $—>13 Stack
‘LO_’OO b1—>11
a 1—>/H Yy b, 0— A
A, $—8
163 - —




e yoeld dautiuid! dagail! Attt A a1 5ol

.6
Time 6
Input
al!b | b|b|ala
$
a,$—>08 bHI$—>1$ Stack
“E
Time 7
Input
al|!b | b| b|lala
$§—>08 b5 $—18 5
a,$— . $— _
a,0—00 b 1—>11 Stack
a.l— A b,0—> A
— accept

AT e
(A $—>8$>

q1




Aol Aediiadl gl AT Aty 5l

1ia o Aecidniud! drgiil) ATlond) AV ASEY) Can pasti2.4

90 LaSmg 4 pond) doudmiinud ) dgicdt At Y ‘:,.m\...\_).ﬂ cl}e—'d‘ (s
12 DLIgSI (e Ao game (LI YA 2. (e

Jicdon g Ailgidt OV Lot |g Adiuiad ) A lmd| Lgad Loy OV Lot | 28 gosme ®
Lgad) i Lgde Bl 3lpA1g DML jga) Ao gocne @
dajt) 3ga) A gema @

JEoeYias e

ASUYI It @

Ayl dalidt ey @

JAudlgtt W (P {1 dcgons @

N1 = - E > = i
AT ﬂ‘;("_»_):/’ » fI—" ?5 (’]13 S ,g\“F:‘} - Final
States — 4 | N ", States
o j N .
/// ’j \ -
Input % | N\, Stack
o}phabe‘g* ; Transition Initial start
ac
function symbol
alphabet stare Y

p.m:ta 40Nt e lt 2\-‘.44.:3‘ a3 A Lof

Yoo Cuarprart
Rermaining ST

fnputr contTer t=

Current
=Y aatre

AdiaSt Al e
ENJETERT-NEORIN
90t (e (Hlamdl dajndt Ggime @
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(q,.bbb,aaa$)
— a
Time 4: Input a
alalal|bl|bi|b a
i $
/\i&;wﬂjw:)}z/\ b,a— A Stack

b,a—> A 4,398 /A
g2 93)

)L, A—>A

Jas p i1 A0 g I Lot a6t Ff JLATH Aclae (s Adecghl puiiiig
o0 ) Aok | Al Wi S AT A (LT ST (g ot AL g

(q>. bb,aa%)

Time 5: Input — a\

2 3uue i M daasl I Adasdt 2. Ak (e Sl dndas S

-

ol Lo Auwalinl Alasn)

Cepy - DLEDH_crcrer$B) > (g . O, crarB)




PP EALy PRECIR(y PP I T PRI U] sl 1 G !

o Loo AN luuod Oliugl | plinia! (HSa

(go»aaabbb,$) > (q,aaabbb,$) >
(qq.aabbb,a$) > (q.abbb,aal) > (g, bbb, aaa$) >~
(gn.bh.aal) > (gr.b.a$) > (g>. A.3) = (g3, A.9)

a, A—>a h,a~— A

,/‘\/v A—> ZQ

) =)

:“_‘,J._..i Laga o0t Lot | dudes Hlualsde | (1Ses Jdiaddt ddes Jageaidy
»fe
(go-cacaabbhb.$) > (g3.A4.3)
£ A1) Ll (oo Aigl pogie altiniubs Augiid) AN Ly a3 (Ses 1t
Adae JSGT iy ol (e 90 Loty Aiilgd Atigy (g9 Al dtugy
ATV st aiis JLELY

=z

LAY ={w: (qo.w.5) > (g75.A4.5")}

7 N\

Initial state Final state
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:Jle
Example: *
(qo.aaabbb.$) > (g3, 1.%9)
aaabbth M)
PDA M.
a,i—a b,a— A

_@/’L,)&——) )Lg b, a— /’gﬁ,tB—ﬂB:@

(g0.4"0".8) > (g3.1.9)

8

a"b" e LA

PDA Af:

T 168 "



2 5 I uagriid A ond) L7 | PR BT

:‘;,._.,L.:'3.4

JABLAYY B Sl il gBY g dm g7Lall A5l el gB Y W)l gl WY ) gano . 1

TS

M = ({ql}a {“(“9 “)”}a {La #}9 6’ 41, #, Q)

o:

(1
2)
3)
(4)
(3)
(6)

& (a1, G #) = {(q1, L)}
5(qi, ), #)=0

6 (q1, L) = {(qi, LL)}
6 (a1, ), L) = {(q, &)}

6 (q1, & #) = {(qu, &)}

d(q, & L)=0

»  Transition Diagram:

Example Computation:

Current Input Stack Transition

(o))
o
B

)

€

&

L# 1) - Could have applied rule {3). but
LL# (€3] it would have doneno good
L# 4
# €)1
(&)
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dadt pd1 5> ol

+ Example Computation:

18Y;
@
1€))
)
&)
©
O
@

8(g1. 0. R) = {{q;, BR)}
8(q1. 0. B) = {{q;. BB}}
8(g1. 0, G) = {(q:. BG)}
8(qr. <. Ry = {(q2. R}}
8(q;. c. B) = {{g2. B)}
5(q;. €. G) = {(qz. G}}
3(¢z. 0. By = {{qz. =)}
8(qz. 2. R) = {(q2. €3}

State Input Stack

qQy 01ci0 R

a1 1cl0 BR
qz cl0 GBR
92 10 GBR
a2 0 BR
qz € R
a2 g g

+ Example Computation:

M
@
&)
®
&)
®
™
)

8(q:. 0.R)= {(q1. BR)}
8{q;.0,.B) = {(q:. BB)}
8(q1. 0. G) = {{q;. BG)}
8(q1.¢.R) = {{q2, R}}
8(q;, ¢. By = {{qz. B}}
&g, c. G) = {(g2. G)}
8(q2.0.B)= {(g2. e}
8(a.s. R) = {{(q2. )}

State Input Stack

41 1cl R
qi ¢l GR
q2 1 GR
G2 3 R
g2 £ £

2

® 8. LR)= {{q:. GR)}
10} 8(q:. 1. B)= {(a:. GBY
(1) 84q:. L, G) = {{q1. GG}

12y 8q.1.G)= {{q2. 8)}

Rule Applied  Rules Applicable

H
1) (16}
(10) (6)
) a2
(12) M
6 &

®) -

® 8. LR)= {{;:. GR}}
(10) 8(q;. 1.B)= {(q;. GB}}
(11) 8(q:. 1.G) = {(a:. GO}

(12) 8@u.1.6)={{e. 9}

Rule Applied

®
®
(12)
&
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Example PDA : For the language {x |x =wwTand win {0,1}*}

M=1({q:.¢:}.{0.1}, {R.B.G}.8.1. R. D)
a:
4] 8(q:.0.R)= {{g:. BR)}
)] 8(q;. 1.R)= {{a1. GR)}
&) 8(q;. 0, B) = {{q:. BB). (g, &)} 6y 8{q:.1,6)={{q:. GG).{q. &}
) 8(9:.0.G) = {(q;. BG)} (B 8qx. 0, B)={(g.. &)}
&3] 5(q:, 1.B) = {(q:. GB)} & 8q. 1.G)={{g. )}
&  8qn.eR)={{g:e)}
10y 8(qz. e R) = {{q. &)}

Notes:
~ Rules #3 and %0 are non-deterministic.
- Ruies %9 and #10 are used to pop the fina! stack symbo! off at the end of a computation.

Example Computation:

8y 5(q;. 0. R) = {{9:. BR)} ) 8, 1. G) = {(9.. GG). (g. &3}

@ 8(q). 1, Ry={{q;, GR)} {7 8q, 0.B)={{g:. &)}

3 &(4:. 0. B)= {(q:. BB). (q.. &)} (8 8. 1. 6= {8}

O} &q,, 0.G) = {(q:. BGY} & 8(q;. & B) = {{gx. €3}

6 8a.1.B)={{q, GB) 10 ¥geR)={e9)
Sttt Input Stack  Ruie Applied Rules Appiicable
% 000000 R (1.9
q 00000 BR Y] {3), both options
Q@ f000  BBR (3yoption =1 (3), both options
G 000  BBBR (3)option =1 {3). both options
% 06 BBR {3joption=2 0!
% ¢ BR m o
& ¢ R 7 (10
¢ 3 £ (10

s | ]| se— —
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Ezample Computation:

43 8(g;. 0. Ry = {(g;. BR)} 6 8(q:, 1. G = {(q;, GG). (@, €3}
) 8(q;. 1. R) = {(q,. GR)} ) 8(q2, 0.B) = {(q.. &)}

3 5q:, 0, B)= {{q,. BB). (q. &)} ) b{(g:, 1, G) = {(q.. £)}

@ 5(q;, 0. G) = {{(q;. BGY ® 8(q;. & Ry = {{Q;, &)}

16} 8(q:. L, B)= {(q:. GB)} (10 g eRy={q. )

State  Imput Stack  Rule Applied
G 010010 R

q 10010 BR 43 From (1) and (9}
g 0010 GBR 5

4 010 BGBER #

@& 10 GBR {3) option 52

9 ¢ BR 3]

@ € R 0

4@ £ £ (10
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» Example: Consider the following CFG in GNE.

) §=aA

{3y §->aB

3) A-ad GismGNF
4 A8 LG)=ah+
(3) B-»tB

{6) B->b

Construct M as;

Q={g)

1=T=fa)

[=V={§,AB}

=3

I} 8g25)={(¢.A)@.B) From productions #! and 2, §->24, §->aB
D) §g.24)=1{(gA4).{a.B) From productions 23 and 4, A->aA, A>aB

(6) &(q.5.B)={(g B).(¢. &3} From productions 23 and 6, B->0B, B>b

0 §3.28)=0 Recdl: Q1 (SU fe})aT - fnte et of QaT*

w— 173 —
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* Example : Consider the following CFG in GNF.

(1) S->2ABC

() Az GisinGNF
() B->b

() C->cAB

() C>cC

Construct M a5;

(1) 8g39)={gABC) S>ABC () dgc8)=0
(@) dgad)={ge} A= (1) &g A)=0

(3) 8q.2.B)=0 (1) ¥gcB)=0
4 3g,20)=0 (1) #gcO={gAB.aC) C
(5) %qb.5)=0 (1B3) 8g.55)=0
(6) da.b.4)=0 ) ¥ged)=0
(0 dgb.B)={qe}  Bb (5 ¥qeB)=0
(8 3(g.b,0)=0 (16) ogC)=0
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Al gl

Fxample:
Consider L = {g, b, ab, 2ab, aasb, ...}
The GNF CFG for L

() S->a8
() §-5b

The PDA M Accepting L'

8(g. 2. 8)={(¢.5)}
8(g.6,8)={(g. €}

8(q,5 8)=0

1f6(q, & Sy={(q, £)} is added then:

LOM)={c, 3 2a a4, ..., b, ab, aab, aaad, ...}

175
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ThenL’ = {b, ah, aab, aaah, ...}
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Slzudad AV o00gl g Argiidf AILand| WYy L3 gad prica gt AN puiiad
Olodlae L2 AW ola aluniwl (e Coi wgwlsdl agle 2. dols 5 i
JAad Gldas e o guaidt Dlandlae 2. Oldealt pal Jdeid Sadiy (o guailt
oUn 2 Lgia blaay 4o yatuciw idly Olalaalt (o L il g o )W 19 Lo ymil
LAl L O B g

S 2. Lol Ll paica! (i g A A3 Lond | Y e 395 A3 43

AT ola pallas @Al by B o Lady Lgie Ml Calisd Lg! Y

AL 1g Bp Al yulyg Mmoo oty g @Siod Bubimg (o0 ity A1 (19S5 @
1t G Jaldidt & (s 90 Loy

i

Read-wWrite head

Control uUnit

()

\v—"'©

Olales (e Ao Lillg A3V OW Lo oL aio D @Sl Bt g putdnivus

bt gl Cyrasdd AalSSIg Be | ya1 (yuly Som youd gl ZaliSIH g Bs yalt
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A yau AT PLER ] NPT

Bsb.iﬂuabMBA’WﬁéJngﬁdl‘,huﬁﬂ_}}ajﬂm L]
e Ol yndt 0d e ()9S g (et (19T Hhuamcld &I Tt AliSS g

. A_’-\N

No boundaries -- infinite length

I

Read-Write head
The head moves Left o Right

5L gl juay el AsLiSI g Be pall ulyd [ Soan Wocall Ao}t Alamll( 2. @

.besij\jijw &ﬁ.ﬁ’ji}»)

f

Read-write head

The head at each time step:
1. Reads a symbol
2. Writes a symhol
3. Moves Left or Right

(93 AlSH g B Al (puly o Bga puh & @id AliSH 4131, AN dsloc ®
Ak ol Rja 01 ploainisuls @750 syl Arlas Lot (yul 11 0048 sy
¥ Ol oz 90t s gone LB dleg Hluddt dgmpoll I e di9H ppests

1 (3 (s




Pl 3 i) 4 Al 5ol
Time O
...... aQ Zb al ¢ e
Time 1

1. Reads a
2. Writes k

3. Moves left

1. Reads b

2. Writes f

3. Moves right

gl (9 AN 29 1)l ma) 19—l s gons (e T Dl s @
hsd) (o 153 ol i LS g Be AN (it ¥

w— w—— | R1 =
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Input string Blank symhol
) v
AN A
{ \ e

------ Ololaiblajc|o0|0]

T

head

Head starts at the Tleftmost
position of the input string

Oladome (e pudgs O (ple pgutly JLEOY I Adacy 5 Sl DIt 5 @
2. (s 90 LaSog LI ATt G Ad ) A (e JLATGH Ailes
:E,JLZJ“M" |

Read Write
ea » Move Left
AN ;

N4
@ a—>b,L @

Move Right
bR~
(222




:af:gabjlthuLEY'Lﬁ&aggﬁfLﬂfég

Time 1

e | OO lal b alc | 0|0 0| e

)
q1

current state

(a)—2=>BR (5

Time 1

183|--------------
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3
------ ololals]|alc]ololo] -
T
91
...... Ol ol a b”bc olo O cemune
1
q2
@2
4
Time 1
...... <> O a b alce <> 0 O -
il
...... <> O a b b c g 0 <> .
92




2ty A yWES T XN

ligag Clybuatl 2. £ »at1 (fodd W (19 Bagubond ! OYY (po rinyg i Al p0a5 @
A londt A0 ame Auliiilg 5aguont ] pud Auigiid] Adlond | Al (o LA iSD Lgild
.8 ySall 00D gk g (o L) JSLT1g B2 gt ! dgrid!

a1 owed Not Allowed

a—>bR

...... OOQ b alc¢ OOQ censan

iy —

Allowed:

No transition
for dnput symhol (€

185



29 AT P WIECTIRR

dlee dogy & (3800 pue Al 2. e Bl Al M piagg G AT JEIT @
(I UK 2 (e 90 Losimg ()5 Y ATl (ye JLATIS

ceauas <> 0 a b atc O 0 O | R

No possible transition HALT

OSeg AW L8 e At gde Al S adlgr Al (e JLADN jgma Y ©

AL W I W g Wl (e JLAZN

- Not Allowed

Auilgd LaBgi Al (1 3943 il 13 OO ULI Ak gone pinygd Al JudT  ®
VAL Y Al gl Algd St Al (1 3933 SOl 13 Lguiad g
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e 3 g AT PPIEA Y NEND

If machine halts

Accept Input w——— in a final state

If machine halts

in a non-final state
Reject Input ——- or

If machine enters

an infinite Joop

39 At Lae im0 ety Aeiad] (aag (o paias ks Loashy
:Jte
;ﬂolﬁadﬂiw@mhwwwbwwiwj

fo 3¢ y8 uwww'éﬁﬁpﬁwjdﬂ| Jg dalisI g 31 padt Lty
tdde o153W1 g LByt

a—aR

‘80——%,[,
{40




el y e I A Uind| 3o

AN 0l HaaiS e (s AL SIS g

1
Time © <> 0 a a a <> &
T
90
2
Time 1 0lojajalal®¢ |0
90
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3
Time 2 Ooaaaoo
1
90
4
Time 3 OOQGQOO
T,
90
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5
Time 4 0 O a a a 0 O
T
q1
a—>a kR

Halt & Accept

O—=>0,L

90 ,

OSeosd (Babactt U1 2. Aluleal (0 33)d s 50 )0 Alealadl By dalas Lol
AU JISSY I e Lgilu

1

Time O <> O a b a <> <>




Tl 19l A1 Al ! 30 ol

2

Time 1 <> <> a Zb a <> <>

Mo possihle Transition

a—akR

Halt & Reject
0 —>>0,L

A J Aaslinll @y W (e 4e gams (ple LB pall] disuass A1 o Loyd
Ao game 2 15-aytt oid yag pual | pdad Adiled W ATl () SB35 B 9o (il
rdaw pddt (e 3392 91! 390431

sl

b—>b,L
a—>a R

8 <>——><>,L
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FAIY 60 Nl At Ly Lasky

1
Time O <> O a b a|o O
T
90
2
Time 1 . <> O a b a O O
1
90
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3
Time 2 Sl Oolal bl alQ 1o
1
40
4
Time 2 Cl1olal plald O
Q.
90
Time 3 Sl Oolalplald O
+
90
Time 4 Clolal bl ald |0
+
90
Time & Ol &) @ b ald | O
*
. Infinite Loop ‘?0
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Jle

T ) AR g pcadl] a3 (a9 i y8u3 A1 maso

{a”"b"}

rJandt

v—=> ¥, R v—=>y.L
a— a,R a—>a,lL

x,R b—yL

3|

Time © Olalalb|b |00




Rkl il 4 | yIE S H AT
2
Time 1 Olx|alb|b|O|0
1
q1

Time 2 Olx|alb|b|0|O

y— R a—>a R a—a,lL

- 195— a—
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4
Time 3 OXCJ,}f’b ARY
!
q2
5
Time 4 Olx|a ¥ R RARY
[
q>

y—>y.R  y—->ylL




7 8 A pWPLER P NPRT
.6
Time 5 Gix|a|y b0
i
¥y =R y—=>v,L
a—a.R a—a.lL
7

Time 6 Olx{x|ylb|0|0

it e

—/

a—>a R a—a,L
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8

Time & Olx|x iy WY




20 1 pWPERTL oY

.10
Time 9 Olx|x | ¥|¥I0|0
q>
v—>V.R a— a,R a—>a,L
0—>0.L

11
. Time 10 Olx|x yiy AR
q0
@ y—o>y.R  y-oyl
y—>v.R a—> a. R a—a.l
00— 0. L '
oo A —> X, R b—y.L

x—>x.R




Zeed il A T eIt SpRET

12

Time 11 Olxix|vivi0o|0

q3

y=>y.R y-o>yl
a—a,R a—>a,l

13
Time 12 <> XX y y 0 O
f
q3
y—=>yR  y-oylL
y—>v.R ™ a—> a,R a—a,lL
0 —>0.L>
—> Y, a—)x,RQb—) L
R RO amd i

x—->x,R
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14

Time 13 Olx|x|v Yy 010

I

94

Halt & Accept

yoy.R o yoy.L
a—>a. R a—a,L

<\’——> —)*Qbe’L
(q{) )@/\a v, R y

‘511

= Y\——) x.R

201 —
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kg3 AV byl pigaitt 2.5

ok Lo Lol ) e 393 AT a3

Input alpnabet Tape alphabet

e
States -
.'\-\. fi ‘//
S //
\ ; ~
\ ! //
R 2
X[ ((), i o, r.’ - qo,o,
L roox
e S \
/’/‘// // :} \\‘-\
. /x‘ {,t } i 5
- / ! Final states
- « . 7 &
Transition function / /
J
P ,1!
Initial state blank

:Q,J:anE'A,A-U' 'Mp-m:tc&._&:-

A9l Al OV Lot 19 ASiuio¥ Aot Led Loy OV Ll dogame ©
A 98,01 W Lomdfg A gudill pud O LnTlg

e G900 ¥ O o il e (g9tod Tl OMS ALl jga) A gone @
91 Creadd Alisg Be | pud | poly oy Wolat Lgatusviw L g R Cayau
bt

aiyildl jge)degana ©

PR NV (L (PR

Eat jay @

ALl O ot dcgeme @



T 39 41 pOwIE Ay RETY ]

O Lgal JLEDN (St (id) AT (e pseaild JLATN 1 A0S i

2l e Aeakl| Aot (o At Lomd ) AT Lt (e JUAIOY jua Bol s Backoms ATl

A Al g Be Al uly Ko o0 @3 pBgll (udd 29 danpld) (e LS Aulos
FI L JSUAN 2 (e 92 Lesarg jluutd! of (el

.,

<=L gz

557(;€?]_a C?:) - (;€?:275‘2?T?Jl;:)

j}Q)J‘lq’4QuQ321JL>J|3JL>J\C&43€éﬂ{93iﬁdLgh&g'ﬁJYWLé*qg‘bsng
1ot LI SISt 2o (e 9o Loy 4l 39001 4o gadma g D)3 ()

configuration

Ol Olcialbla|d |

Instantaneous description: (Cd ql ba




dunelind) 54 90

T
¥,
£

ol Lao WV UTglu Lauogt Wghl plusaiul (St

Time 4 Time 5
Olx|a|y|b|0|0 Olx|aly|b|Q|0

f f

qz 90

A Move: q2 YCI_Vb X qO ayb
Jlie

For Z= {a,b}, design a Turing Machine that accepts
L={a"b": n=1}

rJadt
Q= {q()s ql’ q2, q3a q4}7
Y= {a,b}
I'= {a,b,x,y,B},
d4: accept state

ST Lais guilig LS i
aaabbb
xaaybb
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ATV Ciliuang JLEBYT A o Loy

8(go,a)=(a1,%,R) ; 8(a1,a2)=(q.,a,R)
S(QHY)=(Q1IY:R) ’ -S(erb)=(f-!2;y;§-)
S(QZIY)=(Q2'YIL) ; 5(q2,a)=(q2,a,§_)
S(QZI)() =(q01xr R)

8(qo,¥)=(azy.R) ; 8(as,¥)=(qs,Y,R)

8(q3,B)=(q.,B,R)

qoaabb | xq;abb } xaq;bb } xq,ayb } g,xayb
F xqoayb | xxa,yb | syq;b | xxqayy
F xaxxyy b xxqoeyy | xvqsy b xocyyqsB
FocyyBas
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T
¥
2

1t 1943 A Sildacdald 3.5

Laas (o paicuiw Lo List g Sl cdatdl e ST 2o peisygud Al acdnindd
lae 2 Oldeall oy diadg O Zd3YW Ol dols g Olacdalll sl (e

a9l AR ol paliial (e Jooad i 39 AT LD Lisloa Uiy Losn

£y AV oigl suanl) mresadil! e o Lin Aall ol piad) of Jaud y,dlg plaiive
Aot} il 1302 S90 p ) Al woas IV Lgud) JuaS (i) Al 2ot (e
OB digiin pud Adla 2 ATV CeaBy 13} Lof 4t gudia jga,t) Ac gae LB Aigiie
A1 gt (pSad p5T (iaayg Audgd pagl At gda yid (1950 j9-aytt olld dc gane
2 (e 90 Losmg dalllgl pcaldd (4l M jlaiag Jgsal jluss (gt pbaied s 3503

P St
Input — YES
problem — Turing Machine
instance — NO

29 Ol 13 Laf Zuilgd Al 2. Ladigii AN OLb ead el il Gl 1310
2 e 90 Loy duiles Mlls 31 Juaad (Y9 aBgeld O A3WY La Y iaiad jhuua
T g
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e R

- YES states._

AL accepts w 2P

w > N reject v
A—— ——YES |Af haltson w
H
w —NO AL doesn't W
halt on

Sl 131 L] Ayguase (953 ATV (Lb 2uilgd Al 2 puiayguh AT By 13
2 1IN 9KTg LaBgis ol Ailed Al () Juald o 4318 jg0,0l (iad)y & gl AIY

A guus pud Wltfoud




e akeel

s ind 34> o1

AT ek 395 ATH L

YYR
B8R —ziak
*HXR B8.B.R
BBR
AR "
R . bY.R
HhR
3 qz:
cZA.
aat.
L |
as XL
Z&L

A jgmaydl Ac gos (o At 3L AR aludniwls AW ola Al

aabbcC ;N sis B e 1931 08 JguB gl jurdd OIS0l (o aaliid of

BaabbccB
3aabbccB
BXabbccB
BXabbccB
BXaYhccB
BXaYbcceB
BXaYbZcB
BXaYbZcB
BXaYbZcB
BXaYbZcB
BXaYbZcB
BXXYbZcB
BXXYbZcB

13gdas Solas MYML\AHM&@
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BXXYYZ¢B
BXXYYZ¢B
BXXYYZZB
BXXYYZZB
BXXYYZZB
BXXYYZZB
BXXYYZZB
BXXYYZZB
BXXYYZZB
BXXYYZZB
BXXYYZZB
BXXYYZZBB (hall)

o b

a9yt A gase O (oas oita (L Aulilgd 2893 Wl (I Scbiog ATV O Lay
ATV ol B (e Lgade LB palll @iy bl 03

(O SBY Aot lae 2 gty AN plakinicol (ya paicad (W1

1 { PR SA ENPR Ny W P (P | Pl W Jvi- T PR A
. # 1S ? G u f g

: AL gf Ay piialt

Decimal: 5
Binary: 101
Unary: 113111

I Sl Crellatcwlg geia ygesd At 05895 131 Ligusens O S8 pitian
U SN B At dog plidf iion 5 (nas 9l Of 5B
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A function f is computable if
there is a Turing Machine AL such that:

Initial configuration Final configuration
ol w |0 ol Jw) |0

90 initial state Qf final state

For all W & D Domain

A function f is computable if
there 4s a Turing Machine AL such that:

gow ¢ qff(w)

e AN

Initial Final
Configuration Configuration

For all W & D Domain




2 y9a AT P WL APRT

TGN O s L ¥y

The furction f(x, y) =X+ Y s computable

x; y are intagers
Turing Machine:
Input string: xoy unary
Output string: Jg)o unary

e 2945 A aluniily O 58N ety e

X
' A N f“‘k—_\
Start o111 A

i
90

—
o
b
>
—
<

initial state

The 0 is the delimiter that
separates the twoe numbers

e 211




2 g AT yWIES [} AP

2

>
>\

4 NS )
Start 11411 A 1101

i

90 indtial state

-
<O

X+ y
A
- ™~
rinish 1011 A 1[1[0/0
t
Qf final state

Gt O 381 ole B palll sy g3 AT s Lasdy

Jxy)=x+y




Zoed 3 il 4| [WIE A NEND

FATY 6 (a3 il o Loy

Exacution Example: Time 0
x=11 o A Y
Gi171[0111]1 (¢
y=11 Q’TO

Final Result

X+ VY
G111111]1]0(¢

q4
1
Time U O 1 l 0 1 ]. 0
)
90




Tl 39 AT dualind] 34l

2
Time 1 O l l 0 1 1 0
)
90
LR 151R 1>1L
<>—><>,L_/§2\1—+O,L
»(92)
0 —>0R
3
Time 2 O11{1(0|1(1]|0¢
i )
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4
Time 3 <> 1 1 1 1 1 0
i
il
1>LR ::;tfi‘ 111

B
>

93
—> 0, R

Time 4 <>1 ]. l].l <>




2 g AT y WIEST} AERT

.6

Time S Gl11(1]1 (1|10

Time © 01 1 111 0
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8

Time 7 O11|1{1]1]0]0

e
-
s
-
)
<

Time 8 <>
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10
Fine o ol1|1{1]1]00
|
93

1-LR  1-1LR

q

11
Time 10 0 ]- 1 1 1 0 0
1
43
1->LR  1-51R A>1D>

g% 0—)1,qu1 020.L, 7510,




B ygied 41 Auelind| 4ol

A2
Time 11 OGi1(1(1(1(0(0
i
93
1-LR 151R 1->1L
0—-)1,R 7 Q%O,L’@IAO,L ,
% —0,R
A3
Time 12 0111111110 )¢
t
44

HALT & accept



2 305 AT p WPLEX T PR

:Jle

The fu@nct‘ion f()C) = 2x is computakle

X is integer
Turing Machine:
Input string: X unary
Qutput string:; Xx unary
X
A
' B

Start 1111 A 116
1

QO initial state

2x

A
- —

Finish 01111 A 111111¢

q,f tinal state




iy AT yWRELEXPR]

Turing Machine for f(_x) =2x

ATV olMd HLeald Al by Lasdy

Start Firndsh
0111110 O111 111110

! f

90 3

158,k 1-51L 1->LR

221 —



2 g AT P WRELTERPRT

E

1 J 15w
T L O BN e B yail? gui g3 A3 (yol

Tha function

1 iF x>y
fx,y)=
O if xf;y
is computable
1 if x>y

Turing Machine for f(x, y) =<

0 ir X<y

g X0
Qutput: 1 or 0

Jotiedd 22 dsolin g gt | de Oladad 2 by el 9.0 At admiud
cbilaal) 618 (pog o puaid| Slontlas Jud (e 5023t Sluloall

et Abudal) gl jgadt s @
wopaidl Saa,ed g Jis @




iy AT | Gl 5 g1

=1 390 gt Jludiut @

obucd! 350,81 A3 @

el jgeayt Aty @

a9l By Jof (e ot Audae of nae juoy (I LSS g Be AN (o Jas @

O e suone die Adubedt Olidaal) (e (g1 1SS @

Pt 395 A Aot i O (5l g Aa ¥ paas (oo paTah s Lay
(ot Lo gl o guad) Oladlae Olios ju JoiB (e 30l Gllaadl (aas Jdedd

i ool el
ke

i (Ao (0 2ol B0 jg0,0 (o0 Ao gasne phlad (Sdlg pungad Mmoo
W75 (FRIIL (6 YOR PRI TLL{PN 7y (P YO T S8

OsSutaw (§ikMg Laad it feabal I (o AT 0008 p Uiy 2T (ydn paTuus
o Lea

BbabB (character about to be read)

BbabB

BaabB

BabbB

BabaB

BabaB

BabaB

BabaB

BabaB

BabaB (halts pointing at 15! output character)

e —— - 223



Tl 34 &1 Ul 5 o1

rdadaall 0l L2l )T A1 Lesdy

Sl

fiid) dilas
AU Olgladd) 2. 190,01 (1o 48 g0ns frond Aol paimdiS

btV 2 p15k Job (1 BalisIg 3 pan (uly a3 - 1
ENPSPYFUNES BPUIL U JOS [R)

oA Bolais Wig ot Jus jey T i g0 Boliss .3
et olails 1,8 A e st 4
Bl 2 i lism LS

St oladls £1,8 (AL e it L6

AN S ey Ll Salet T

w2 gl jay JSIg 7 12 Difglasati s 8




BT PWRER Y

ol Laso @iy IuaiT | Al (51 0Laf (s 90 Lasiag (ndpo LS 912

BabB BXYBa
BabB BXYBaB

BXbB BXYBab

BXbB BXYBab

BXbBR BXYBab

BXbﬁa B XY_B_ab

BXbBa BXYBab

BXbBa BXbBab

BXbBa BabBab  (hatl)
BXYBa

ol Lo ¢h Obilaadl aligl BN g s 195 411 Lol

XXR
YR

528 aaf
g b R bR
8.8.R-
BXR .
aal
- " N DL
) ;%L
TR Bax]
BEL -

Xal
E2N

<

L




2y AT Al Gt gl

e
JLaa¥i asi

Insert




Qo 3 gued pWWIL S P ACN

Sl
it AT
(24R)
Vv SR 11 Delete
bAL) \(cAL)
cel)

(2al)






(ot AT 9500 43T bl | 3 g

1deude 1.6

Olaedad 2 OLISH 18 2 Wil Uy a) Lo duagiid | A0t | A0 atsnid

el 3l g e LY Aula | Oyl ueiad Oilddail| 618 (pag Bakatie

WY ol (598 dugie AL AT Aol | Acaslid) dudtait) Bylud) Jidh

09 Aaliind | Al il) Dbl guldt (pmo 4it §o doiacannd diilaio Byl (o wtladl 2.

I3t At jlone LI JSET (tesg A Lot Budt Ao o Laia ) 3 psald

Gl Oyt (mdlail ) muowadl diles 2. Lgalubnb! (S (it 19 dmegridd |
PP irl §

A sal]

adladl af _arda
dadldl)

Gl wada g
i | s
Excitation
Variables

SENUSTPIPEI NS PYRER STP I+ (P [PRIPE () 35 VS TP
o #1931 dagyl Ollobllaid 0l (0 52959 Flip-Flops
RS botauty o
JK bottasty @

Dot o
T Ltazty @




gt &7 gy00 AT Al 3ol

O e ¥ A W W) muasad 2 Ollolaill olid (e (ST alasiu)y

AL Gadmig dotlad S (o dcwlu ¥l yjaoV Hans 48 jas

g S5 Al A gase @

1 A Lot Aot (oo o Laldt JLASS A (o (S0 g Wilguadt ot @
LI Al ple @il Gansg Aeliud| A 3go g3 LT AT Lot

S Iall @B e datas (ol il AL A3l (S (Sidlg 5eadl Alalall @
A Lo | A3t daidg

VP RRIPE DT E ¥ PUPWAL IYDPS TYWER. PP KU DY D11 PRSI
o ATt AT e doLdail) J ALY (5l Lo 1o y8e5 o) @udl!
AN ALY

2 g O (S doldad (L £mg S5 10 b (30 4 gamne dollad (§T Satia

i O doldaldl figd (Sasg o 193] Ao 2 ol piual! Al 2 Lol Acia ) Al Tt

Ao ey S It @ud omle Iabatiel Lgale LulS (i O 9 Al 4L
PRIPT

-

Clear gt o ue Sllollaitt o) dblee 2 deduiwtl S5 1aldl (s
Preset usigdt 1 a1 S5 a9

S5 I (35 AL St e paio g Jo¥t St te T 25098

3909 Lol 1) ode (5 i VI @ueiit |y pdaid paay e A Lot ! (1 oLt
dotlaitt JLE3 G ($ads 10a 5l GIL 5kt e dantg g Jo¥t S5l e yaual)
w9 (g VT S ll (ol B35 b uld ) (e il piads | A3t N
o) putdnicnT Augiid | ATlant ) 431 guronad 2 Aol g pussaid! 2ules 2. dollaill
2 9 pauall Laglucag AL Jomuidl daudd Zaglucs Jo¥I S5l Zasd (955 Lentic

232




a5 gl

G V1 5 i By At Lond| A Londt daudiy LS5 ATl Aot} (5L ALt ) ol

AcLud) Auad Sgom g
SR ottt

idotlalilt gt &3@!&&1‘@&!@0%

S Qi
o b
— R th“_—

390 93 At L0 9 ALBU Aot (3} At lond| Aot (e doblaitl fia Jais
doUadt 10g) I cifgaal! Jouta 2. Ziclly AU Jinladl @l

S R O(next)
0 0 Q
0 1 | 0
o : :
1 1 ?

o Al Lond| A lonlg (S 1At @y LU A3 Lond ! g3 (3319 35l ALl
Q (next)=S +R'Q
SR=0

= S il e Lo ,890 e gl et s (St gt Jos
198 A9 a0 AU Wi I Aot Wlodl (ye Jolladl

233



Jy'iﬁi Q90 di sl G gt

o | O(next) s R
0 0 0o X
0 1 1 0
- 1 - :

JK Jaitaity

oia 2.9 S de 1 muatt Judy 431 Wi Goluatt dolaid ) dolaidl 14a dvdy
AL A3 Alaand]] 2 Ad L) Aot (uSe le dollaill foas dllad!

o llalll 1agh GBguiualt datasnl LI JSAT Cp

J Q o
—beix
p— K Q' -

39 93 AT gT ALLER ATLandt (31 A Lot Aot (oo dobdaidh find AT

rdoUladd? 1agl L Clgaatt Jgua 2o dindls RI U S 14l @ud

- e
0. 0 Q

0 I 0

1 0 1

1 1 ‘ Q




___g.g.n'm pedi sl Sl

N

o Aot L3 ATl (5 i) eutdiy 2t L0 A3 Lot a5 (5019 350l sl
Q (next) =JQ'+K'Q

il St o le L pigl e g el o (Suidly gt Sy
190 ABgyas AU Wla 31 A Lot Alontt (e doUaild

F ones ,J, <
: - - =
— : : o
— = < =
1 1 X 0
D dabtaust

Gaslo e K J st Juogs 51 TK dollaidt be s (11 doriy do U

dollaitl 1ag) SBguhualt dalasdl AN JKAH Cnn

R D Q n——

—P>CHk
— Q' b

39 g9 At i g1 ALY B3I (31 A Lond) AT Lond| (poe doballl fiua (ki
dollailf 1ag) VUt wlgaalt Jgua 2 Airdlg AL I il uid



__J.Ly AT gy00 &7 s buad! 5ol

D Qnext)
1
0

o Bl LT} Aoty (1l @iy A ATt )3 (g B e ALkl
Q (next)=D

A S5 tad) le Lo 890 e {931 i dubeony (§UI 19 gt | gt
19 489 a0 Al Wia ) AT londt ATt fpe Jolaldl

QOmexy)y D
1
0
1

|
0
1

T doltasty
Ko T gsntt Juogs 553 TKdo Uaidf Lo us (M dddiy Joblad

rdoladdl fugt @,M!Jawog:mwm‘%

" ‘T‘ Q s
I CIk
— Q“ —




o W 4290 07 il 5

39393 AT Ui gl LGN Aot LM At Lo Ablandf (e o llaid 1iAa SB35

I NIAA RNV S olgalt Joao 2 g AL (5 1al) oud

o — py—
0 Q
1 Q'
T Q(next)

o A lond) Aot lg (5n k| ety 23 Al a5 (01 3 i) ALl
Q(next)=TQ' + T'Q

B Yt (e Layagl oo gl mudl oy (s0tlg gl J gt
198 dBgyae A5 Ul M Aol Aland] (o Lo Laid!

o Q(next) T
0 0 0
0 1 1
1 0 1
1 1 0

19 ddslud | SlloUaill pocgd! Joluar painds (s Jouor (b Laudy

oueanalil Autlos B Lgaliiniul (S
Desired transition | Triggering signal needed
Qt) Q(t+l) |S R{J K|D| T
0 0 0 x{0 x|0} O
0 1 1 011 xj1] 1
1 0 0 ljx 1§00} 1
1 1 x Ofix 01y} O




i dll il 5 gl

t(odin A1 gy9-0 AT 2.6

Byl (o Lgion 1 Latliieg Agiad| ATLand| A3 (e gr3lad GLUIY O puciad

ST JLEOWT A 20 datuiy B (ST (e A1 yg0 Al Aiilg 8,5213g Avanens
O (§) Aikae Allan 2 ATV pal tie Olo pontl il (55 @i 390 A1 (23 Lagie
e 55 @0kd (-bis A1 2e Lol Aot Lond ALl (ke maian L1381 (AT Cila yontt
deaiad L E1 o Sl 3l OF (81 G5 (oI Al (0 ATV JLEZSH e Silan yint
CAMB | LA OMSEN ) Cpisg At Lond| 2T Lot | Aoy A Lond | OV L) @t (e

IV (S G

Synchronous Moore Machine

Input

P .

Output

Next
State

Present
State

Cutput Is Only a
Function of Present State




__3"# A gyge i A | 3 ol

Svnchronous Mealy Machine

Input

Output

Present
State

QOutput Is Function of
Present State AND
Present Input

elc.

239




ﬁt“ i gygn ddi dudlad) sl

(ol Lem (6551 M A (e JLETEY i Sobon pim) s sk (e A1 2. Lol

10/0

00/1

efc.

‘el (ol Z3gey e A1 9y90 AN (4o S Jidd

OVt pedgiindcgane ©
O e Al Ao g @
Ol il (e diglia degoe @
Y AL eIl e
Ol yalialls @
:W:\le:\.ﬂiﬁdﬁ (;"‘Li)'" 533.4.2:! g.l:t Loudg
Machine is a quintuple of sets
M=(5,1,05,8 )
S: Finite set of states

I: Finite set of inputs



i AT 4290 A7 sl gl

O: Finite set of outputs
d: State transition function
B/A: Mealy/Moore output function
AL Crlgladndl gLt (o iy O (ASIW (0 (69 igedl 1B juolic wadsidy

gl e g Lgidd e oy WSt 0gd @
OV dalases alusiwb USSR b @

SUEBY Jgis dpisi @
tJle

Blilsa Y de)dl g e Aty (pdice A (pma ST (puidls | hgmeddt S
ook (g0lg yealt (e AATFHI O AL (po 2cgasne 2 0101 atizy

zﬂ?"'“- ali
gl SligSe @

M=(S 10O p)
S {ABCDG}
g 10,1}
0. {0,1} = { not detected, detected}
S next figure
p:  next figure

24] me—




Jﬁﬂ?wmi

dudlad| 3ol

1/0

“01” det

WVt Jalasme @

“0” detected

0/0

“010” det

(JEBY J193) BN g @

Present Present Input
State 0 1
A B/ A/
B B/ Ch
C DA A/
D B/ cn
Next State/Output




Gt W gogo & Al gl

139 43|

:cﬁ,.ﬁ.lﬂ&\.’\_g&a ®

M=(S1064)
{A,B,C,D,E}
I {0,1}
£ 0,1} = { not detected, detected}
S, next ﬁgure
A: next figure

¥l dalame ©

“0” detected

“0101” det

“01” det

“010” det 1

— 243




gl dli Al 5!

JESW Joua @

Present Present Input
State 0 1 Output())
A B A 0
B B C O
C D A 0
D B E 0
E D A 1
\ Next State




s Wi 4290 & Audleadf 5 gl

1Augiit ! Mod) W erasad 3.6

WL el [ WO . { Q!,leﬁglyw‘bﬁgiﬁm:w.%fw

LB 93 Audusn g Olon pintlg O Ul vty 2USAL agd . ]

SN Lt datadn ey ASAL Liad .2

ggllal] Glslaill 3ue dudond S Lol @ud )3 2 LS alad alisit .3

il Ades 2 dalusniil a1t dolaidf £95 a4

dolaill 7igill Jous plisiulig JLELOY! Joua sl .5

£l ity doLIaidl i bt (50 (s JoS3 5 praisnd O¥ sLall i st .6
Ol y3nald 3 peaiind ] Walall

- 3laill Oylag Cilalge alusdiuls WV Ji 7

:Jle

(et 4l goe 2. Aaalilie Ol g 3 Calineny 4 gt ATt 2 (i
ckn 19319 sdualt e dat 5l DS AL
1 Sondl

ok Lasm yg0 WY OVl aums @

State S, : zero 1s detected
State S, : one 1 detected
State S, : two 1s detected
State S, : three 1s detected




g AT dli dsalad 5l

O¥lsdl daloss gwys @

AN AU Alidiuls SY Ll B3 @

° §,= 00 ° §,=10
° §,=01 " S53=11

Dottt 5y 2 ga wgliall Ollollaiti sue ®
Faal) W) (Ggbu dotlaidt (Jnite Of Lis dasn ¥ JUGGY! Sy s @



43’5"‘1" 990 A Awalud) 3491

Present Next
State P2 | gae  Output
AB x A B v
00 0 0 0 0
00 1 0 1 0
01 0 0 0 0
01 1 1 0 0
1 0 0 0 0 0
1 0 1 1 1 0
11 0 0 0 1
11 1 11 1

SloUaill J3 1k 5 maiintt OV alall ple Jpamd! gijlso dadlys pusdiu @

Jd ! 3.":3
By 8 ,
g6 o1 i1
A = =
A 1
0 : -
11 N i P
X
Dy=Av By Dy=Art By y= Al




L I lad 5 gl

U UTNREC TP W-ORTRYOR T JERS JWSERTIEL AR TPYNES ST

}wwﬁ s {
E.‘
CLK
1 ‘

Sl

S48 Gladlf pasd
e 095 Leuie 1 2005 (63,08t Gallalitl o >l j9-0 Ad) by Laid

1003 8 3¢ g 54l ) Cofudo gl

S¥ Nt dalasma @

248




bl S gl

Present State Input

JLEGY Jgua s @

Next State Output
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